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BCTVII

MeToauuHi BKa3iBKHM 3 aHTJIIHCHKOT MOBHU i cTyaeHTIB Il kypcy Hampsimy
niarotoBkn6.090103 — Arponomis. Matepian ykiaaeHo3a BHUMOTaMH MOJYJIBHO-
PEUTHHTOBOI CHCTEMHM HAaBYAHHS ¥ BIAMOBITHO J0 HAaBYAJBHUX MPOTpaM 1 TUIAHIB.
MetoanyHi BKa3iBKH po3p00JIeHI HA OCHOBI OPUTIHAIBHUX JKEpell, SKi HE TUIbKU
BJIOCKOHAJIIOIOTh 3HAHHS 3 aHTJINACHhKOI MOBH, aje W 30arauyroTh CBITOTJISIA Bijl
KOPHUCHOI 1H(popMaIlii 31 CreriaJabHOCTI.

MeTonuuHi BKa3iBKM CKJIQJalOThCA3 BOCBMH MOAYNIB. Matepiall KOKHOTO
MOJIYJsl MICTUTh TEKCTHU JIJIs YUTAHHS, HA OCHOBI SKUX CTYJIEHTH MalOTh MOXKJIUBICTb
norauOuTH CcBOi mpodeciitii 3HaHHs.JICKCHUYHI BIPaBH J03BOJISIOTH OBOJIOJITH
npodeciiHOI0 JIEKCUKOI0 Ha pIBHI, HEOOXIAHOMY MJis 3A1MCHEHHS NpodeciitHOi
1HIIIOMOBHOI KOMYHIKAIIii. ['pamaTiuHi BOpaBH CHOPSIMOBAaHI Ha MOTIUOJICHHS
3HaHb Ta 3aKPIIUICHHA HABHYOK B)XMBAHHS BCIX 4YaciB aKTUBHOTO Ta IMAacCHUBHOTO
CTaHy, YMOBHUX PE€UEHb Ta MOJAJIBHUX JI1€CIIB.

Merta BKa31BOK — COPUSITH aKTHBI3Allli Ta MOTIMOJICHHIO HABUYOK BOJIOJIHHS
AHTJIICHKOI0O MOBOKO B arpOHOMIYHIN cdepl Ta BUKOPHCTAHHS MaTepialy sK B
npodeciiiHiil AiSIBHOCTI TaK 1 B 0€3M0CepEeIHbOMY CIIUIKYBaHH1 3 HOCISIMA MOBHU.



Module 1
Agronomyandnature

Pre - texts
“My choice is only my choice”

Read and translate the texts:

A few words about Agronomy

—— Agronomy deals with the cultivation of fields for regular
production of crops: food crops and industrial crops. Cultivation
® = means the preparation of the ground for planting seeds, tubers etc.
@' Cultivation is done by means of various kinds of agricultural
: \3\ machines and implements:gang plows, harrows, sweepers, etc.
As the climate and the soil greatly differ in different regions
‘ & of our large country, agronomists regularlyexchange experience.
This regular exchange of plants which may be grown in different regions and has
given start to the development of various means for the improvement
of crops.

It is known that regular study of the chemical composition of
soils and the development of means for the reproduction of their
‘ fertility have become a fundamental part of agriculture science.lt
may be said that the development of agriculture has become an important factor in
the development of national economy and has resulted in the rise of national
economy and has resulted in the rise of living standard of the Ukrainian people.

Word list:

agronomy-—arponomisicultivation —kynerusarisplanting - caxinus gang
plows - npuyinHi wryrn harrows —6oponuexperience—
nocsimimprovement - mokparenns fertility - BracTuBocTi , poaro4icTh

Nature

There are four seasons in the year: spring, summer, autumn, and winter.

March, April and May are the spring months. Spring is a very pleasant season.
The weather is usually warm. But sometimes there are cold days especially in March.
In spring the days get longer and the sun warms the earth. Nature awakens: the birds
return from the south, the trees turn green, the air is fresh. The first flowers appear in
the parks, gardens, forests and fields. Many people like spring more then other
seasons.

After spring summer comes. June, July and August are the summer months. The
weather is very warm and sometimes it is very hot. There are many sunny days, when
the sun shines brightly and the sky is cloudless. Occasionally the sky is overcast with
heavy clouds and storms begin with thunder and lightning. Summer is a busy time for
those who live in the country. They cut grass and make hay. But many people like



summer because it is a good holiday time.

When autumn comes the days get colder. September, October, November are
the autumn months. The weather is very much changeable in autumn. After windy,
misty, rainy days there are fine sunny periods. The leaves turn red, yellow and brown.
They fall to the ground making everything magnificent around. Especially amazing
period is Indian summer. Birds migrate to warm countries.Autumn is harvest time.
The farmers gather crops in the fields and pick fruit in the orchards. The days become
shorter.

Winter is the coldest season of the year. December, January and February are
the winter months. It is usually frosty in winter. Sometimes the frost is about 25-30
degrees below zero. Lakes and rivers are frozen, the roads are covered with slippery
ice. It often snows. Winter is a good season for winter sports.

It is hard to say which season is the best,each one is beautiful in its own way.

Basic work

1.Read, translate and learn the text “Farm work in different seasons"
paying attention to the active words and word combinations:

Spring
o Spring is the time to prepare the soil for planting. First, the farmer
88 fertilizes his field with cow manure or a chemical fertilizer. Then he plows
.» the soil, turning it over and mixing in the fertilizer to provide a rich soil for
. the crops. Later, when the days a little longer and the sun has warmed the
soil, it is time to plant the seeds. Meanwhile, if the farmer raises the
animals, spring is the time when the animals are giving birth, and both mothers and
their young ones have to be watched and cared for.

Summer

After planting the farmer waits and watches.He watches the e —
weather, hoping for enough sun. He waters the young plants and -
watches carefully for sings of plant disease and attacks of insects.
Many farmers spray their fields with chemicals to keep away
disease and harmful insects. With water, sun, care and protection the plants grow
strong and healthy. Summer is also suitable time for cutting grass and making hay.

Autumn

This is the busiest time of the year. Now the crops in the
#% fields are ready to harvest. The fruit is ready to pick. It is
el time to gather in the vegetable crops and to reap the
Qr! grass crops, such as wheat and corn. The farmers have to
B \work quickly. Often it is necessary to call in extra
workers to work in the fields and bring in the crops.
Work starts when the sun rises and finishes when the sun
sets. The days are hard and long. But when the job is done, it is time fore celebrating,
for dancing, eating, drinking and having fun.

<,
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Winter The days are getting shorter and shorter. The
harvested crops are sold in the markets or stored in the barns, ready feed and animals
though the winter months. The farmer chops wood,
preparing to keep his house warm through the long cold
winter nights. And when winter finally comes, it is time
for planning, for deciding where and what to plant next
year. For soon it will be spring again and the cycle of
planting, growing, and harvesting will start again.

2.Remember the following words and word combinations:
the Earth — zemns

nature — npupona

to awaken — mpoxunarucs

to return — noseprarucs

air —oBiTps fresh — cBixkui
to appear — 3’ saBiISITUCS

cloud — xmapa

overcast —BKkpuTHIIXMapaMu
storm — Oyps

lightning — 6uckaBka

to cut grass — kocututpaBy

hay -cino

changeable- minnuBuii
mist-ryman

magnificent-aynoBwuii

an Indian summer- «6abuHEeTITOY
to gather crops-3ouparuyposxaii
frost-mopo3

to freeze -mopo3zuTH
Severe-JroTHi

to be covered with-OyTunokpurum

3. Answer the questions:

1. How many seasons are there in the year?

2. What are the spring months? What is the weather like in spring?

3. What are the summer months? What is the weather like in summer? Is it a busy
time for farmers?

4. What are the autumn months? The weather is very

changeable in autumn, isn't it?

5. What are the winter months? What is the weather like in winter?

4. Match the English weather words with their Ukrainian equivalents.

1) dew a) MOpo3
2) forecast b) nerkuiiBiTeperp
3) blizzard C) OBiHb



4) thunderstorm
5) hurricane
6) humidity
7) breeze

8) rainbow
9) shower
10) frost

11) flood
12) lightning
13) mist

14) drought

d) poca
e) 3acyxa
f) OnmckaBka
g) 31uBa
h) imua,cepmanok
1) rpo3a
J) IPOTHO3MOTOTH
K) BostoricTh
|) 3amerisb, 3aBiproxa
m) yparas

n) paiimyra

5.Change the given statements so that they will mean the opposite ones.
Model: We are having rough weather. - We are having calm weather.

OO ~NO OIS WN -

having winter, lands south of the

. The weather is really nasty today.

. It's ten degrees below zero.

. The roads are dry today, it's not dangerous to drive.

. The sky is clear.

. It’s 30 degrees in the shade.

. There is a bad fog in the mountains.

. The weather is windless today.

. The frost is going to kill all the flowers in the garden.

. Fill in the gaps in the text. Bear in mind that more than one variant is possible.
In many parts of the world there are four seasons every year - spring, summer,

autumn, winter. Summer, of course, is the time of

cold weather. And autumn andspring are in between seasons. Many parts of

the (2)have these 4 seasons. Lands near the equator, however, have

prettymuch the same temperature all the

seasons do not all have them at the same time. When land north of the equator are

(4) are having summer. The change of

seasons is caused bythe earth's traveling around the (5).
7. Match the English expressions with their Ukrainian equivalents.

1) fairwind

2) before the wind
3) in the wind' s eye

4) like the wind
5) to lose wind
6) second wind

a) PSIMO TIPOTUBITPY

b) npyrenuxaHHs

C) MOy THUMBITEP

d) mapmarastuuac
€) 3aIIKOUTH
f)3aBiTpom

7)there is something in the wind  g) kpaiaucBiTy
8) to catch the wind in the net h) xonsaThuyTKH
9) to take the wind out of one's sail 1) 3acamaruc10) the four winds

J)IIBUIKOSIKBITED

(1) weather and winter of

(3) round. Those landsthat do have 4



8. Write what kinds of weather are good or bad for doing these things.
Planting flowers in the garden.

Doing sightseeing in a big city.

Revising for an exam.

Being ill with a high temperature.

Fishing in the river.

Weeding potatoes.

ok owdE

9.Answer the questions.

What kind of weather do you like most of all andwhy?

What do you like /dislike about the weather today? Does it suit your mood and the
work you are doing?

Do you know the weather forecast for today?

Do you usually listen to the weather forecast?

Does your mood depend on the weather?

Can you say that you have a favorite month or season?

Do you agree with the saying: “Nature doesn’t have bad weather”? Why?

Can you name at least three things you like and dislike in each season and explain
why?

10. Put these events in the order they usually occur:

First, the farmers a) harvest the crops.

Then, they b) fertilize the fields.

After that, they c) feed the animals inwinter.
They may have to d) store the crops.

Finally, it's time to e) plant the crops.
Then they have to ) plough the fields.
Now they can g) spray the crops.

11. Match the words in the box with the definitions
below.

a) a hen b) a field c) atractor |d) a barn
e) a bull ) wheat g) manure |h) an axe
1) a vineyard k) a shepherd|l) a cattle  |j) soil

__earth; the place where plants grow

_asharp tool for chopping trees

__agrass crop, grown to make flour for bread

_amale animal that can be dangerous

__apiece of land on a farm

_afarm animal that lay eggs

__aperson on a farm who looks after thesheep
COWS

a piece of land for growing grapes for wine

CoNoaRrwdE



10. a powerful motor vehicle used on a farm
11. animal waste used for fertilizer
12 a farm building often used for storing crops

12. Translate the sentences into Ukrainian:

1. To reduce the speed of the crop is the function of rear beater. 2. To cut and turn the
soil various types of ploughs are used. 3.The mechanism to cut the crop is called a
cutter bar. 4. The crop to be cut is separated from that to be left for the next round. 5.
To harvest various crops is the main task of a combine.

13.Translate into English.

1. V rpynni crae xononno. 2. Cporoani moposHo. 3. Ilormsue. Ige cHir. 4. YV Hac
Haa3BUYaiiHa moroxa. 5. CkinbKM TH 3Haem npo rpyHtu! 6. Boma - xutts ms
pocnuH. 7. Kucenb HeOOXiTHUHN JUISKUTTS ToAuHK. 8. BoceHu qHI CTaloTh KOPOTIII,
a Houl moBmii. 9. MeHi momo0aeThcsl 3amax CBike ckomeHoi TpaBu. 10. 3emus -
Oe3uiHHe OararcTBO 11 KpaiHu. 11. KoxkHOro panky npupoja npokKuaaerbes. 12.
depMepcTBO CTa€ MPOBIJHOIO Trally33l0 CUIBCBKOTO rocmoaapcTBa Ykpainu. 13.
CydacHuil arpoHOM IOBHHEH OyTH cheuiajgicroM mmpokoro npodiumo. 14. Ilo
pobssaTe Ha (epmi Bocenu? 15. Illo6 oTrpumarm Xopommii Bpokail - HEOOX1THO
MPUKIIACTH MAKCUMYM 3yCHJIb. 16. 3axuct KynbTyp nyxe BaxiauBuil. 17. @epmepu
BUKOPHCTOBYIOTH Pi3HI 0OpWBA JJIsl TOKPAIIEHHS BIACTUBOCTEU IPYHTY.

Grammar Review

1. Put the verbs in brackets into the correct tense Present Simple.

1. I (not to walk) to work every morning. 2. She (to wash) her car once a week. 3.
We (to spend) our holidays in the country. 4. He (not to hope) to go there. 5. She (to
go) to the theatre twice a month. 6. Mary (not to live) near the station. 7. You (to
take) your dog for a walk? 8. She always (to invite) her friends to her birthday party.
9. He (to drink) coffee every morning. 10. Her brother (to study) in London? 11. I (to
go shopping) every day. 12. He (to speak) Spanish? 13. | (to visit) my friend every
week. 14. Helen (not to read) a lot. 15. He (to sleep) till nine o’clock.

2. Put the verbs in brackets into the correct tense Present SimpleorPresent
Continuous.

1. She (to read) at the moment. 2. You (to go) to work by car? 3. He (to drink) coffee
in the morning. 4. They (to have) breakfast now. 5. | (not to watch) television every
night. 6. Look! She (to dance).7. He (to have) breakfast every morning. 8. You (to
listen) to the radio now? 9. We (to look) for our things now. 10. He (not to watch)
television at the moment. 11. I (not to get up) at seven o’clock every morning. 12.
Don’t (to make) so much noise: mother (to sleep). 13. She (not to drink) coffee in the
morning. 14. Peter (to talk) to Susan at the moment. 15. Where (to be) your mother?
— She (to cook) dinner now. 16. Listen! They (to discuss) an interesting problem. 17.
She (to listen) to the radio in her room now? 18. He (not to ride) a bicycle every
evening. 19. Jane (to work) in Paris at the moment? 20. They (to be) in the garden
now?

10



3. Put the verbs in brackets into the correct tense Future Simple.

1 .1 (to see) them next Saturday. 2. They (to be) here tomorrow. 3. We (to have ) the
test in a week. 4. She (to spend), holidays in the country. 5. The journey (to take)
three hours. 6. | (to open) the door for you. 7. | (to go) to school tomorrow? 8. They
(to come) back next week? 9. We (to leave) Kyiv this evening? 10. You (to wait) for
me? 11. Nick (to finish) school next year? 12. She (to agree) with you? 13. | (not to
swim) tomorrow. 14. He (not to play) in the garden. 15. The weather (not to be) fine
on Sunday. 16. We (not to be) busy in the evening. 17. Sheila (not to get) passport
next year. 18. Why your father (to help) you? 19. When she (to study) English? 20.
How we (to get) there?

Module 2
Agronomyismyfuturespeciality

Pre - text

“Your future - only in your hand”
Read and translate the text:

Agriculture is a human activity in which people use areas of land to produce
food, clothing and other necessary materials.

The word “ager” is a Latin word. It means a field. The word “agriculture”
means the cultivation of fields and growing crops. But this is the old meaning of this
word. Now it also means the use of land to breed animals. At present there are two
main branches of agriculture. They are crop growing and animal breeding.

We do not know when people began to grow crops. It was many thousand years
ago. Now crop growing is a highly developed branch of agriculture.

The soil is the basis of agriculture. Enough food for all the people can be grown
if there is sufficient good soil for crops to produce high yields.

There are two ways to grow enough food. They are the increase in area of arable
land and the intensification of agricultural production in the areas already used for
cropping. At present the second way is more important because three is not enough
experience to reclaim tropical and subtropical lands.

The intensification of production in the traditional agricultural areas is based on
the knowledge of climate, soils and their use, and on a large collection of high -
yielding varieties and hybrids of agricultural crops.

All intensification factors, such as full mechanization, high application of
fertilizers and extensive use of herbicides must be used in such a way as not to
disturb the biological equilibrium of the soil.

Word list:
agriculture - cibChKe roCIoIapcTBO
Crop- CLIbCHKOTOCIOapChKa KyabTypa
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sufficient - mocrartHii

yield-Bposkaii

to increase - 30iabIIyBaTH

cropping- BposkaitHuit

to reclaim - nepepoOsiTH
intensification - inTeHcubikaris
application - crapaHHICTb ; HAHCCCHHS
to disturb- 3aBaxaru

equilibrium - cxman

Basic work

1. Read and translate the text.

My family has got a small weekend house not far from the town. It's set in the
picturesque place near the river. Our garden is not very big, but still we have got
plenty of work there. Working in the garden is our family's hobby. It gives us a lot of
moments of pleasure and excitement. Isn't it amazing to put a seed into the ground
and watch it grow, blossom and give fruit? But at the same time garden means a lot
of work, because it needs a lot of care.

In spring when the nature awakens from its long winter sleep, we have to
whitewash the trees, protecting them from harmful insects, to cut away useless
branches. If we want to grow some vegetables, we must put some fertilizer, sow the
seeds into the soil and water them carefully. Very often we grow seedlings of
tomatoes, egg-plants in our small greenhouse and then plant them out. It helps us to
grow the crop earlier. Summer is a busy time for a gardener. It is necessary to water
plants, protect them from bugs. All the gardeners adore autumn, because they can see
the results of their work: they gather nice crops, pick fruit and vegetables.

Last autumn | had a wonderful chance to acquire some habits in planting trees.
My father made up his mind to plant 2 or 3 good apricot saplings. It was the end of
October, the most favorable period for planting fruit trees. | prepared all necessary
garden tools: spades, a rake, a ridging hoe, a fork, a garden's knife and others. After
finding the most suitable place for the young plants Daddy began to dig a hole.
Mother started doing the watery fertilizer and | brought a water house and waited
patiently for other instructions.

When the hole was ready my parents put some fertilizer into it and placed one
the saplings into the hole. They asked me to hold it straight and the accurately,
standing on their knees spread its roots. They began to throw the earth into the hole
till it's full. After ramming the earth around it parents did a deep pit round the tree.
Then it was my turn to take part in planting and | began it watering to quench the
thirst of the young apricot tree. That day | enjoyed helping my parents in the garden.

I understood the importance of my Daddy's words: “Gardening takes much time
and efforts but it brings you a great pleasure and satisfaction”.

2.Remember the following words and word combinations:
weekend house - 3amicbKHITOYTUHOK
picturesque place - manpoBHUYEMICIIE
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to whitewash -6imutn
to sow - ciatu
seedlings -poscana
egg-plant - 6axnakan
greenhouse -Teruuilst to plant out —BucamkyBaTu
to adore —o6oxkHIOBaTH 10 acquire some habits - HabyBaTHBMiHb
to make up one’s mind - BupinryBatu
favourable -cnpusTimBuit
garden tools - caniBHu4e3HApS IS
sapling - mosoae nepeBo
spade - nomnara, 3acTyn
rake - rpatui
ridginghoe - mortuka
fork - Buna
suitable -migxomsmii
to dig a hole - konatusimy
watery fertilizer - pinkemoOpuBo
hose-mwianr
root -KopiHb
to ram - tpamOyBaTu
to quench the thirst - BramyBatucnpary
3. Answer the following questions.
1. What do the gardeners do in spring/summer/autumn?
2. What is the most favorable period for planting?
3. What garden tools were necessary for their work?
4. What did everybody to do in the garden?
5. How do you understand father's words: —Gathering takesmuch time and efforts
but it brings you a great pleasure andsatisfaction?
4.1 What can you see people doing in the fields, orchards and vegetable gardens?
Make up sentences.

did the ground.
prepare seeds ready to
lant.

In spring Eare for the young

In summer farmers plants

In autumn ggféec;]feﬁsome look after the crops.

In winter weed the vegetables.

At harvest time cut away dead
branches from the
trees.

gather ripe fruit.
dig up potatoes.
storevegetables

carefully.

13



4.2. Say what kind of hard work you can see
people do in the fields.
(in orchards, in vegetable gardens, in flower gardens) in different seasons of the year
in order to get good crops.

You may use the following:to dig the ground, to cut away dry and useless
branches, to water the plants, to plant seeds, to pick the ripe fruit from the trees, to
gather in crops, to weed vegetables and flowers, to look after trees.

4.3. Say what you can see people do to protect the trees and plants from the hot
sun in spring, from birds, in a very cold winter.

You may use the following:to whitewash trees; to make a scarecrow; to cover
the roots of fruit trees with snow.

5.Match the English names of garden tools and agricultural implements to their
Ukrainian equivalents.

1) spadea) camna

2) rakes) cepm

3) ridginghoec) po3nuioBay

4) gardener' sknifed) mosmBanka

5) sicklee)razonokocapka

6) gardenhosef)nunkaansoOpizaHHs TiIOK
7) sprayerg) Tpu3y0iBuia

8) lawnmowerh) koca

9) Saw for cutting branches i) moioToK
10) three-pronged fork j) cagoBuitnix

11) scythek) rpa6i

12) hammerl) nomara

13) watering canm)cagoBuii ILJIaHT

6.What agricultural implements gardeners use: a) to dig the Earth; b)to water the
flowers; c) to weed vegetables; d) to cut dry and useless branches; e) to cut grass; f)
to rake hay; g) to red hay; h) to plant a young tree?

7.Give some tips on how to plant a tree.

First... Then...After that... At last... Finally... .
8.Describe the process of planting potatoes.

9. Complete the following sentences.

1. Horticulture and agriculture have gone through...
2. Horticulture can be divided into...

3. Fruit culture is called ...

4. Vegetables are grown for...

5. Landscaping is...

6. A growing flower can be appreciated through...

14



10. You're going to plant out some seedlings of tomatoes. You ask your
neighbors for some pieces of advice. Role play theconversation.

GrammarReview 1. Put the verbs in brackets into the correct tense
Present Simple, Present Continuous or Future Simple. 1. They (to
play) football tomorrow. 2. | (not to play) croquet tomorrow. 3. We (not to stay) at
home next day. 4. We (to stay) at home every Sunday. 5. He (to write) letters very
often. 6. He (to write) a letter at the moment. 7. He (to write) a letter now. 8. Ann (to
play) the piano. 9. Ann (to play) the piano next lesson. 10. Listen! Ann (to play) the
piano. 11. You (to get) up early every day? 12. You (to get)-up early next morning?
13. It’s ten o’clock already! You(to get up)? 14. She (to pass) exams every year? 15.
She (to pass) exams in a month? 16. She (to pass) her exam at the moment? 17.
Where you (to go) every Saturday? 18. Where you (to go) now? 2.
Put the verbs in brackets into the correct tense Present Simple, Present
Continuous or Future Simple. 1. You (to be) busy tomorrow?
Let’s (to go) to the restaurant. 2. There (to be) someone at the door. — Ok, I (to
answer) it. 3. | (to wait) for him now. When he (to come)? 4. Usually I (to brush) my
teeth, (to have) a wash, and (to go) to bed. 5. Look! John (to wash) his car in the yard.
6. Don’t touch the fire! You (to hurt) yourself! 7. They never (to see) their parents
again. 8. Look at the sky! It (to rain) tomorrow? 9. Let’s (to go) to the cinema. I (to
think) the film (to be) a big success. 10. Beth (to read) many books. 11. They (to
drive) Poltava tomorrow morning? 12. When he (to get) up every morning? — She
(to get) up, very early. 13. | hope the (to rest) at the moment. 14. Kate (not to sleep)
now. She (to do) her homework. 15. Why your parents (to stay) with us for next
weekend? 16. They (to refuse) to go for a walk next evening? 17. Who (to play) the
piano in the next room? 18. Hurry up! We (to miss) a train! 19. What (to be) your
plans for tonight? You (to visit) your mother? 20. Be careful with that cup! You (to
break) it! 3. Put the verbs in brackets into the
correct tense Future Simple or Future Continuous.1. You (to work) all tomorrow
morning? 2. He (to see) them tomorrow. He (to tell) them what you said. 3. | (to visit)
her office next day. | (task) her then. 4. My son (to stay) with my parents for the
holidays. 5. You (to stay) here all weekend? 6. Don’t disturb him, at the moment he
(to have) breakfast. 7. | (to see) the manager at the meeting next week. And he (to
give) me all the information he knows. 8. Next year he (to come) to Paris. 9. You (to
come) to our party? — No, | (to work) on my report. 10. Don’t leave your child
alone! He (to cry). 11. She (to give) me this book? — No, she (to be) busy at that
time. 12. Don’t forget to take your umbrella. It (to rain) the whole day. 13. What you
(to do) at six o’clock tomorrow? — | (to play) the piano. 14. He (to leave) the
hospital, as feels better. 15. We (to be busy) this evening. We (to pack) our things.
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Module 3

Farms

Pre-text

“we are able to prosper under very different conditions”

Read and translate the text:

There are about 53500 farms in England. Most of them are farms less than 50
acres each. These small farms are family farms. All the work on the farm is done by
the farm and his family.

The types of the farm in England are different soil and climatic areas. In the
Eastern part of England most farms are arable. The farmers
grow different crops here. They grow grain crops and
potatoes, fruits and vegetables and other crops. In the _8
Western part of the country dairy farms are predominant. i

Most small farms in England are mixed farms on which i
farmers grow some crops and keep some farm animals. 4

In old days most of the work on farms was done by hand AR A ERRENIEE :
or with the help of horses. Now the work is highly mechamzed Many useful
machines are used by farmers. The soil is plowed with a tractor, crops are planted
with different planting machines, grain crops are harvested with combines.

Now the main tendency in agricultural development of this country is that small
traditional farms are gradually disappearing because they cannot complete with
modern big industrial farms.

Words list:

acre -akp

arable -opnwmii

dairy - MojouHui

tomix - 3minryBaTH

tokeep - Tpumatu, yrpumyBatu
animal - TBapuna

horse -kiHb

gradually -moctymoBo

to disappear -3uukaTH

to complete — koukypyBatu

Basic work
1. Read and translate the text:
The first farmers

Perhaps the most important event in human evolution was the start of farming.
About 10, 000 years ago, modern humans stopped picking wild fruits and vegetables
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and began to grow their own food. Hunting was also dying out as people began to
breed their own livestock.

What caused this change? Did our genetic ancestors notice vegetables growing

out of animal dung hips and so realize that food could
[—m— be planted? Did they realize that their traps for catching
. animals could be used to fence off livestock?

Some scientists think that agriculture began when
the world's climate changed about 10,000 to 15,000
years ago. The climatic change caused a great change in
certain species of plants. New forms of plants began to
appear and people realized that they could be grown.

—— Whatever caused it, agriculture changed hunter-
gatherer people into farmers. People developed more complicated behavior and
learned to do a wide variety of other things.

But agriculture did cause some problems. The new farmers soon lost the variety
of their diet. Before farming started people lived on a diet of around 150 species of
seed food. About 1000 years later, they were using only seven or eight species.
People's health declined, but as there was plenty of food available, the population
increased. This made the problem worse.Farming also had a big effect on people's
social relationships. Hunter-gatherer societies were non- hierarchical. They did not
haveleaders. Farming caused strong hierarchical societies todevelop. The
minority could exploit the majority and live off them as parasites.

From this changeover from hunter-gatherer to farmer we can see the remarkable
side of humans - we are able to adapt to changes and prosper under very different
conditions.

2.Remember the following words and combinations:
event-nois

to pick -30uparu

wild-mukuit

die out-BumupaTu

livestock-xynoba

genetic ancestor -reHeTHUHUITIPETOK
dung hip-kynarxoro

trap-nacrka

species-(pocyiiH , TBApHH)

complicated behavior-ckiannanoseainka
variety of diet-pizHomMaHiTHICTBIXkKI1
decline-moripmurrcs

plenty-6araro

Increase—301IbIIyBaTH
non-hierarchical-ueiepapxiunmii
minority-MeHIicTh

Majority-0iJIbIIiCTh

Prosper-mporBiTaTy, MaTH YCIiX
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3.Answer the following questions:

1.What do you think was the most important event in human evolution?
2.When did the period of farming begin?

3.Why was hunting dying out?

4.What caused the development of farming?

5.When did the world's climate change?

6.How did the climatic change cause the development of agriculture?
7.How did agriculture change people?

8.What problems did agriculture cause?

4.Find in the text the English equivalents.

EBomrortis  roacTBa, HAWBaXIMBINIA MO, PO3BOAWTH BIACHY XyHI0OYy,
TeHETUYHI MPEIKU, TPUMATH 32 OTOPOKEI0, BUAM POCIIWH, CKJIaHa MOBEIHKA, OaraTo
JOCTYIHOI 11, pI3HOMaHITHICTh Y XapuyBaHH1, 3MIHIOBATHCS Ta MPOIBITATH.
5.Fillinthegapswiththegiven words:
hunting sourcesoffood wildplantsandseeds
settled wanderinglife togrow
permanentclayportshouses

Learning to farm

For some of the first Americans,the end of the Ice Age meant the end of a life
based on . After thousands of years, the big
animalsdisappeared. Now people had to findnew

Gradually they learned to gather and
cook . Some of them learned how their
favorite plants. As farmers learned to grow more food,
they gave up of the gatherer. They in
villages near their fields and built . Once
settled, they began to make that were too
heavy for them to carry when they wandered from place to place.
6. Make up questions using the question words in brackets:
1.The last representative of the wild cattle died at the beginning of the century.
(When)
2.Domesticated cattle belong to the family of Bovid. (What family)
3.Man domesticated the horse in Central Asia. (Where)
4.Draft animals practically disappeared. (Why)
5.Man domesticated animals for three main purposes. (How many)
6.Man uses cattle mostly for food now.(What ... for)
7.Man gained great experience in improving farm animals.(\What experience)

7.Translate the international words.

Human, control, bison, yak, zebu, practically, form, method, to absorb, to
accumulate, analysis, association, calculator, to coordinate, detail, final, individual,
popular, reserve, systematically,automatically, zone, ideal, systematize, regular,
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stable, to function, recommendation, to compensate, balance.

8. Translate into English.

binpuricts TumiB depm BUPOOISAIOTH TKy.MonouHi
dbepMu OTPUMYIOTH MOJIOKO, Maciio, CUp BiJl KOpiB, IIO
MacyThCs Ha MACOBHUCHKAX.

Mosouni epMu 3a3BUYail pO3TaIIOBaHI HEIAIECKO
BiJl BEJIMKUX MICT, 00 MOJIOKO BYAaCHO TOTPAIUISIO Ha
KYXHI JI0 JIFOJCH. x \

PO3BHTOK CIIBCBKOTO TOCTHOJApCTBAa 3aJEKUTh Bil  IUIECIIPSIMOBAHOCTI
Mostoaux crieriamicris. Livestock

9. Prepare a short report on the history of farming.10. Read and retell the text:

“Modern farm”

Dwaine is a businessman. The name of his business
Is Wilson creek Farm. He has forty-five dairy cows. _
Dwaine knows each of his cows intimately - how much }8
milk she gives, when she is going to have her next calf,
and whether she is bossy or obedient.

Dwaine manages his herd to get the most milk he
can while keeping his cows healthy. He has many farming consultants to give him
advice.

Dwaine milks his forty-five cows twice a day with an electric milkier. The milk
never touches the air in the barn. it is drawn through glass pipes into a large
refrigerated tank in the milk house. Every other day, a tractor trailer comes to pick up
the milk and take it to processing plant. It carries the milk in a large tank insulated
like a thermos so the milk stays cold.

2 At the processing plant, the milk is pasteurized,
homogenized andpackaged, then sent on its way to you.
: Each of Dwaine’s cows gives about fifty to sixty
& pounds of milk a day. Dwaine needs to know when a cow
will give birth, because that affectsmilk production. A cow
ot s S produces themost milk about four months after giving
b|rth Then she produces less and less until the milk stops six weeks or sobefore her
next calf is born. A cow can live to be ten years old and may have seven or eight
calves in her lifetime.

Cleanliness is important to Dwaine. An inspector makes surprise visiting to the
farm to see if the barn and milk house are really clean. He leaves Dwaine’s “report

card: to tell him what looks good and what should be

improved. Dwaine was very happy with the 94 percent he

___. got on arecent inspection.
o Besides sanitary surroundings, it takes good, clean
feed to make good, clean milk. Dwaine raises corn and
- alfalfa hay for his herd to eat. A crop consultant helps
Dwaine to reduce his use of artificial fertilizer and insect and weed killers.

19



But clean, healthful crops won't do Dwaine's cows much good if they don't eat
them in the proper amounts. Cows that give lots of milk need additional high-protein
grain, such as corn or soybean meal.

A nutritionist tests the cows' feed to be sure it contains the right nutrients. If it
doesn't, more vitamins and minerals are added. A computer helps Dwaine feed his
heard. Each of his cows wears an electronic device called a transponder on a chain
around her neck. Dwaine programs into the computer how many pounds of grain
each cow needs. Once a day the computer gives Dwaine a printout that tells him how
much feed each cow ate. This is important to know, because if a cow is getting sick,
she doesn't eat much. Then Dwaine makes sure she gets the treatment she needs. A
cow's health is watched more closely than the health of most people. The veterinarian
visits Wilson creek Farm monthly to check the herd.

Even with all the help from consultants and modern equipment, some things on
the farm never change. Dwaine still gets up at 5:30 in the morning, 365 days a year,
to care for his cows.

Remember the following words and word combinations:
tomanage - ynpaBisaTH, KepyBaTH
dairy - Mmonounu

calf - rens

bossy -HopoBHCTHI

obedient - mokipHMiA, CITyXHSHUI
herd -ctamo

tomilk - goitu

electricmilkier- exexTpomoinka
barn - kopiBHHK

refrigerated -oxomomxenuit

tank - mucrepna

trailer - npuuin

processing plant -mepepoGHuit3aBo1
insulated-i3onboBanwuit

to pasteurize -nactepu3yBaTu

to homogenize -romoreHi3yBaru
to affect -smmuBatu

feed-xopwm, dbypax
alfalfa-roriepna

weed Killers-repoirunn
nutritionist-gieroixor
device—npuctpiit

11. Answer the questions:

1. How many cows are there in his herd?

2. How often does Dwaine milk his cows?

3. What does Dwaine feed his cows with? Who helps him?
4. What does he use a computer for?
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5. How often does the veterinarian' visit Dwaine'scows?
12.TranslateintoEnglish:

MoJto4Hi KOpOBHM, HOPOBHCTA YH TOKIpHA, JOITH JIBi4i Ha JCHB, OXOJIOKCHA
IUCTEPHA, 00 MOJIOKO 3aJIUIIAIOCh XOJOJHUM, KOJIM KOpOBa OTEIIUTHCS, BILTUBATH
Ha BHPOOHMIITBO MOJIOKA, PANTOBUH BI3WUT, IO CIiJ IMOKPAIIATH, BHPOIIYBAaTH
KYKYPY/J3y Ta JIOLUEPHY, CKOPOTUTH BUKOPUCTAHHS IITYYHHX JOOPHB, IMTECTUIIUIN Ta
repOiuar, HeoOX1HI MOKMBHI PEYOBUHU, JOJATKOBE 3€PHO 3 BHCOKHM BMICTOM
O1JIKa, JTaHIIIOT HABKOJIO MINi, CydyacHe 00 HaHHS.

13.Match the following English words with their

definition:
1) farm a) covered building for keeping animals
2)dairy b) container for liquid or gas

3)to milk c) area of land and buildings for
arowing crops, raisinganimals etc

4) tank d) raised to produce milk

5)trailer e) number of animals (esp. cattle)
feeding or goingabouttogether

6)barn f) things needed for a particular purpose

7)herd g) draw milk from the cow

8)equipment |h) transport vehicle pulled by a tractor

14. Use one of the following nouns from the wordbox to complete sentences.

| a school aflock aherd apack aswarm |
1. A number of cows or bullsis a....
2. A number of sheepisa....
3. A number of flies or other insects is a ....
4. A group of elephantsisa ....
5. A number of dogs or wolves isa ....
6. Agroup of fishisa....

15.Translate into English:

1. 3mimani (GpepMUBKIIIOYAIOTH SK BUPOITYBAHHSICIIBIOCIIKYIBTYP, TaK 1 PO3BEACHHS
TBAapUH.

2. 3mimani (epMU3HAXOAATHCS TaKoX y €BpoIi, BPErioH1, SIKUM MPOCTITaeThCs Bijl

niBHi4HOI [lopryranii Ta Icnanii yepe3 @paunuito, Himeuunny, [loneury no Pocii.

3. Cepe3eMHOMOPCHKE  CIIbCbKE TOCIMOAApPCTBO 3HAXOJIUTHhCS B perioHax 3

CepEeA3eMHOMOPCHKUM KJIIMATOM, A€ 3UMHM M’SIKi, a JIiTa JIOBI1 Ta CyXi, 3 HU3BKUM

pIBHEM OMaiB.
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16.Translate the sentence not using a dictionary:
Farms of the future have little resemblance to those of today ones, the land is covered
with high buildings where not people but animals - cows, sheep, pigs, chickens - live.

17.Describe your visit to the farm:

KIMS Pp
SRR

Grammar Review
1. Put the verbs in brackets into the correct tense Present Simple or Past Simple.

1. I (to watch) television at seven o’clock every evening. 2. I (to watch) television
yesterday. 3. She (to comb) her hair every morning. 4. Yesterday she (to comb) her
hair. 5. They (not to rest) yesterday. 6. | usually (to walk) to my school but yesterday
| (to take) a tram. 7. Yesterday he (to have) a holiday. He (not to go) to the office.He
(to get) up at eleven o’clock, (to wash) his face, (to have) breakfast and (to go) for a
walk. 8. As a rule my mother (to cook) dinner. But yesterday she (to decide) not to
cook.She (to invite) us to the restaurant. 9. He (not to like) coffee. But yesterday he
(to drink) a cup of coffee as he (to be) very tired. 10. You often (to take) your brother
for a walk? — Yes. — Why you (not to take) him for a walk the day before
yesterday? — He (to be) ill.

2. Put the verbs in brackets into the correct tense Present Simple, Past Simple,
Future Simple or Present Continuous.

1.Tomorrow | (not to go) to school. 2. Look! Kate (to help) her mother about the
house. 3. Where they (to spend) last month? 4. You (to go) shopping every day? —
No, I (to go) shopping three times a week. 5. With whom you (to be) at the cinema?
— | (to be) there with my friend. 6. Where we (to go) next week? 7. He still (to wait)
for you at home. 8. What subjects we (to study) next year?. 9. My son (not to do) his
lessons now, he (to watch) television. 10. You (to be) at home at eight o’clock
.1 (to
see) a good film last Friday. 13. We always (to drink) a good coffee in this bar. 14.
You (to be) busy now? — Yes, | (to be) very busy. I (to do) my lessons now. 15. They
(to do) the washing-up now? 16. Peter (to listen) to the radio at the moment? 17. She
(to send) a letter to her friend tomorrow? 18. | (to be) sure now that she (to agree)
with our plan. 19. He (not to clean) his room yesterday. He (to be) tired. 20. At what
time we (to have) dinner tomorrow?
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Module 4
Plants

Pre-texts

“We want to be men, but forgot that we are nature - plants, animals...”

Read and translate the text:
Man and plants

Plants: grass, flowers and trees grow everywhere - high in the mountains, far out
in the ocean and in many deserts and Polar Regions.

There are over 350,000 species of plants. Some are so small, that we see them
only with a microscope; some are very large, such as the giant sequoia trees in
California, they are over 100 meter high and about nine meter wide. Plants are very
old living things. Pine trees live 300-500 years. There are plants in Ukraine 2000
years old.

Life is impossible without plants. We breathe the oxygen which comes from
plants; we eat the food which also comes from plants or from animals that eat plants.
Many thousand years ago man built houses and made 8 useful things from timber
which he got from trees. He made his clothing from plants too.

Plants also give beauty. People like to look at flowers, at fields of grain they like
to be in the forest. Man began to change plants about 10,000
years ago, when he began to grow the first food plants. The first
farmers saw that there were good plants and not so good plants.

They sowed the seed of good plants and grew new plants
from them. In this way man developed the basic food crops of
the world. For example, the Indians developed little ears of wild
corn into large ears with many grains, which we use today.

When ChristopherColumbus came to the New World the
new corn grew over large territory there.

Word list:

the giant sequoia trees  -riraHTChbKiCEKBOI

about nine meter wide  6inst 9 meTpiBBOOXBaTI
in this way TaKUMYHTHOM

ears of wild corn - TUKIMIOYaTKUKYKYPY 13U
have not got any idea  -HaBiThbHE3HAIO

Plants and their uses

From earliest times plants are known to play an important part in everyday life
of man. We know - plants to provide us with food, clothing, shelter and many other
necessary things. We are still as dependent upon plants as primitive man to grow
plants. And the cultivation of plants is thought to be closely connected with man's
progress. In order to grow plants man had to settle down and to begin building
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homes. Primitive man had few needs except food and clothing.

Civilization has increased man's wants to a surprising extent. The man of today
Is no longer satisfied with merely having food to eat and house to live in. He wants
raw materials which can be made into useful things and products.

Our food and clothing are produced directly or indirectly by plants. Many
animal foodsare on plants and produced food and raw materials are used by man.
Without plants life neither animals nor man will be able to live.

Many things we use in everyday life are made from plants. The paper we write
on, the clothes we wear, the tables we sit at, all come from plants. Plants are used as
timber in the making of furniture and as fuel. Many drugs are made from plants.

Plant culture began great many years ago. The most important plants in the
world are said to have been grow 4 000 years ago.

There exist very many species of plants. But the best known to most people are
those that are useful to men. They are grown and cultivated by farmers and are called
farm crops. These crops are used for many different purposes.

Some are used directly by man, some are consumed by animals, othercrops are
used in industry and medicine. We can certainly expect new uses to be found and the
value of other plants to be discovered.

Word list:

providezabesneuyBaTu shelter OymiBIIs, YKPUTTS

order TOPSIIOK

to settle IPHKUBATHCH

expect yekatu, paxyBaTu merely poCTO, TIIbKHU timber  Oajka,
micomatepiandrug aiku consumed  BxkuBaT: 0 be found

3HaXO04UTHU,BCTAaHOBJIIOBATH

Basic work

1. Read, translate and retell the texts “Seeds”, do tasks to the texts:
“Wheat”

Wheat-growing was extensively practiced throughout Europe in prehistoric,
times and this cereal was of great importance in the ancient civilizations of Persia,
Greece and Egypt. It spread to all the temperate countries where it now plays a major
part in the food supply of many nations and it is also widely cultivated in tropical and
subtropical areas.

Cultivation.It is often said that winter wheat does best on a well-formed seed-
bed. Plugging should be done as early ¢ as possible and the normal depth would-be in
the region of 6 inches. The type of seed-bed required for winter wheat can be
described as one with a reasonable tilt in the top 2-3 inches, with a surface containing
a high proportion of clods, the largest of these being about the size of a man's hand.
This is to prevent capping, a condition which can easily arise with heavy rain, when
the soil surface runs together forming a crust.

Managing. With all crops it is essential to ensure that adequate supplies of
phosphate and potash are available during the first few weeks of growth. Once
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observed it is not possible to correct properly any deficiency and both of these major
elements are required either in advance of drilling or they may be combine-drilled
with the seed.

Combine drilling g is the most economical way of applying these fertilizers, but
with winter wheat time of sowing being of prime importance, the fast method of
application using fertilizer spinners is more often preferred. For average conditions
30 units (one unit is equal to 1.12 Ib. and is the same as 1% on analysis) each of
phosphate and potash will be sufficient. If the soil is rich in nitrogen, then 30
units/acre of fertilizer nitrogen would suffice, but under average conditions levels up
to 60 units are considered economic rising to 80 units in the low rainfall areas.
Previous cropping, local environment and to some extent cultural techniques can also
influence the optimum level of this nutrient. When the soil is likely to supply some
nitrogen for early growth of a winter crop, then it is unlikely that any autumn
fertilizer nitrogen would be required.

The short, stiff-strewed varieties of wheat can stand high levels of fertilizer
nitrogen whereas the taller ones used to produce quality straw will only tolerate
moderate amounts. Of all the cereals winter wheat will give the highest response to
his fertilizer and to obtain the best return the proper dressing should be applied at the
correct time.

As far as spring wheat is concerned up to 60 units, nitrogen can be economic. It
should be applied prior to drilling or combine- drilled with
the seed.

Seeding Rates. The amount of seed required for autumn
wheat will vary between 1 and 2.5 acre. Early sowings need
the least since the temperatures for germination are higher
than those later on and a larger number of the seeds produce
plants. As one goes north the autumn temperatures become
significantly lower and hence to obtain the optimum number
of plants it is necessary to sow larger quantities of seed.

Harvest. Winter wheat is normally harvested from October (in Britain), depending
on the type of summer experienced and also the geographical location. Spring wheat
matures much later than winter wheat and later than the other cereals.

Following a hot, dry summer grain may be combine-harvested under very good
conditions; and if the moisture does not exceed 14% then it can be stored without
drying. Moisture tests can be carried out at harvest and these are often used to
indicate the stage of ripeness or readiness for combining.

Most of the wheat being cut by combine harvester, there is still a small, but
significant acreage, which is hindered to satisfy the demand for long straw. It is said
to be binder-ripe when the grain is fairly firm, has a cheesy texture and does not
exude any milky fluid when pressed. This stage is usually reached between 1 and 2
weeks before it can be combine-harvested. The actual binding should not take place
until the morning dew has disappeared. Once cut the grain will mature in the ear and
the straw will dry out.

Word list:
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wheat-mmenuns

tropical and subtropical areas - TpomiuHi Ta CyOTPOIIYHI IO
cultivation- 00po06iTOK IpyHTY

managing -eKOHOMHHUH Mia0ip 100pUB

seeding rates - mociBHa

harvest-30upaHHs yposxaro

straw — conoma

dry out - BucymyBaTu

1.Find synonyms of the following words and word combinations in the text:
Widely, area, to grow best, important, to see, rightly, enough, fertilization, to be high
in, before, local conditions, to withstand, to use (fertilizers), as to, to differ, stand,
yield, to ripen, to show.

2. Translate the words without dictionary:

1) extent, extensive, extensively, to extend; 2) to supply, the supply, supplying,
supplied, supplier; 3) content, to contain, containing, container; 4) to form, the form,
forming, formed, formation, formless; 5) deficient, deficiency; 6) dry, dryly, to dry
out, dryer, dryness.

3.Fillin the gaps with necessary words from the text:

The time and method of... the land for wheat depends principally on the ... that is
followed by it. Unless the rainfall is high it is desirable to have the land prepared ... of
seeding to permit settling of the ... and accumulation of... .When the land is to be
plowed after a small grain there should be a month ... plowing and seeding.

4.Give the annotation of the text“Wheat”.

5.Translate the text without a dictionary.

Where spring wheat is grown, it will usually yield better if seeded early. It needs to
make its growth largely before hot weather. Since spring wheat can stand a great deal
of cold weather there is little, if any danger from low temperatures when seeding is
done early.

Grammar Review

1. Put the verbs in brackets into the correct tense Present Continuous or Past
Continuous.

1. He (to write) a letter now. 2. He (to write) a letter at two o’clock yesterday. 3. She
(to do) her lessons now. 4. She (to do) her lessons at this time yesterday. 5. My friend
(not to sleep) now. He (to watch) television. 6. My friend (not to sleep) at eight
o’clock yesterday. He (to watch) television. 7. She (to listen) to the music at the
moment? 8. She (to listen) to the music at this time yesterday? 9. They (to play) chess
when | saw them yesterday. 10. They (to play) chess now. 11. Listen! My son (to
sing).12. He (to sing) when | (to enter) his room yesterday. 13. Why they (to work) in
the garden? — They (to plant) flowers now. 14. Beth (to wear) a new dress how. 15.
She (to play) the piano when | came in.
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2. Put the verbs in brackets into the correct tense Past Simple orPast
Continuous.

1. When my father (to come) home, | (to have) dinner. 2. When Alice (to return), | (to
listen) to the radio. 3. When mother (to enter) his room, he (to draw) a picture. 4.
When my sister (to come) in, | (to do) my lessons. 6. When her aunt (to air) the room,
she (to catch) cold. 6. The telephone (to ring) when I (to leave) the house.-7. When |
(to meet) her, she (to go) to the office. 8. He (to wash) his face when somebody (to
knock) at the door. 9. The young people (to dance) when I (to come) to the party. 10.
When he (to wash) the dishes, he (to break) a plate. 11. When | (to ring) him, he (to
learn) a rule. 12. When she (to play) in the yard, she (to see) her mother. 13. Her son
(to fall) when he (to climb) up the tree. 14. When they (to see) their children, they (to
play). 15. When | (to enter) the bar, | (to see) that they (to drink) coffee. 16. When he
(to do) his homework, he (to make) a lot of mistakes. 17. When the teacher (to come)
into the classroom, all the pupils (to sit) at their desks. 18. When | (to watch)
television, the phone rang. 19. When she (to drive) her car, she (to feel) a headache.
20. We (to make) the beds when Jane (to open) the door.

3. Put the verbs in brackets into the correct tense Past Simple or Past
Continuous.

1. We (to leave) the party when he (to arrive). 2. What they (to do) when you (to see)
them? 3. When he (to come) to see me, | (to have) a bath. 4. | (to read) a book when |
(to hear) the noise. 5. They (to have) supper when he (to visit) them. 6. We (to sit)
here yesterday when he (to pass). 7. She (to cross) the road when she (to see) the
accident. 8. 1 (to choose) the present when my friend (to enter) the shop. 9. When my
aunt (to go) home, she (to lose) her purse. 10. His brother (to sleep) when he (to
leave). 11. They (to wait) for me. At five o’clock yesterday. 12. What he (to do),
when you (to arrive)? 13. It (to snow) when I (to go) out. 14. Who (to come) in when
you (to translate) an article? 15. When they (to play) in my room, they (to find) my
notebook.

Module 5

Agriculture abroad

Pre-text

“Any plant will grow here well...”

= Read and translate the text:

= Agricultural engineering can be defined as the application

@ ofengineering to agriculture but this definition does not cover

all the fields it is connected with. Engineering is, in truth, an

| integral part of the science of agriculture, the present high
®ESS position of modern agriculture largely depends on.

The development of fertile swamp and overflowed lands, the irrigation of arid

regions, the construction of new sources of power has become important factors in
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the development of agriculture in many countries. The invention of the cotton gin, the
steel plow, and the tractor has affected not only agriculture, but also many of the
economic and social phases of life.

At first progress was slow but with the growth of engineering knowledge more
and more engineering achievements found useful application in agriculture. Now
agriculture cannot be separated from agricultural engineering.

agriculturalengineering - cibcbKorocrnogapchbka iHKeHEpist
science of agriculture -Hayka ciTbChKOTOTOCIIONAPCTBA

Basic work

Text 1
1. Read and translate the text:

Agriculture in Denmark

Denmark is small country consisting of a main
peninsula and nearby y 500 islands, of which 60 are
populated. The Danish countryside is either quite flat
. orgentry rolling. More mat 70 percent of die country is
o highly productive farm land, only occasionally
interrupted by forests, lakes, and towns.

Farmland is
consideredan important nationalasset in Denmark.
Before young farmers can purchase land, they must earn a farming license. Also,
Danish farms have long specialized in exports.

The typical farm is in the 110-to 500-acre range, specializing in four to six
different crops and one type of livestock, normally dualpurpose dairy cattle or pigs.
In spite of its size, Denmark is the world's largest exporter of bacon and the fourth
largest exporter of dairy products.

Danish crop production is dominated by winter and spring varieties of barley,
which is grown on about 60 percent of the farm land. On the remaining 40 percent, a
great variety of crops are grown including wheat, rye, oats, fodder beets, sugar beets,
canola seed, potatoes, cultivated grasses and legumes, silage corn, and a wide range
of seed crops.

Due to intensive fertilizer use and relatively high rainfall, crop productivity is
high: however, during dry periods irrigation machines are extensively used,
especially on the lighter soils.

Farm mechanization is mainly based on imported 50-to 125- horsepower
tractors, Danish and imported combine harvesters, and Danish-made implements.

The climate is practically the same all over the country-fairly mild winters with
some frost and snow, and relatively cool summers with many rainy days.
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Word list:

countryside-ciiibchbka MiclHA

gentry rolling - cxoska Ha KyJ1t0

interrupted -3HaXOAMUTHCH A

legumes- 6060Bi

silage corn - cuioc

seed Crops - 3epHOBI KyJIbTYpH

fertilizer - ymoGproBau

irrigation machines - 3pomryBanbpai MalHN
implements - 3Hapsas, 00IaTHAHHS

2.Answer the questions on the text:

1.What part of Denmark is covered by forests, lakes and towns?
2.What is the most important national asset in Denmark?
3.What is the crop productivity like? Why?

3.Translate the sentences.

1) The dog draws sledges in Northern parts of the country.

2) Sea water contains various salts, including those that are harmful to most land
plants and animals.

3) Man will not be able to live without growing plants for himself and for feeding
animals.

4) Man required some 10000 years to make braids.

5) The new plow, introduced in 1865, allowed the farmer to ride instead of walking
behind it.

4. Fill in the gaps with the modal verbs:
must had will have will be able can

1) Next week I (moBunen Oyay) to take an exam in English.
2) He (moxe) translate this article.
3) He (mosunen) translate this article.
4) He (mouneH OyB) to translate this article yesterday evening.
5) She (3mo:xe) to translate this text.
Text 2.
1. Read and translate the text rememberingnew words:
Agriculture in Australia
Australia is mainly a flat, dry, and thinly populated

AUSTRALIA

8
»z

land. Only a few regions along the coast receive enough rain
i iy to support agriculture and large populations.

Y Only three percent of Australia's total surface is
fju cultivated, but another 62 percent is used for rough grazing
. epew f . for the very large sheep and cattle stations where up to 45
o ~Z_ | acres per cow is required.

= Wheat is the dominate grain crop in Australia, and on
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nearly all livestock farms, hay is produced from grass or oats. Sheep are the
dominating type of livestock.

Farm mechanization is generally based on 100-to 200- horsepower four-wheel
drive tractors pulling large implements. Large combine harvesters and other self-
propelled equipment used are mostly made in North America, or under license in
Australia. Most farms also have their own trucks for grain hauling and other transport
tasks.

Due to the normally stable weather pattern, both seeding and harvesting seasons
are longer than elsewhere. Being a southern hemisphere country Australia's seasons
are opposite to Europe and North America. Nearly all grain crops are based on the
winter varieties. This means that the bed preparation and seeding takes place mainly
during April to June, with harvest November to January.

Word list:

to be cultivated - o6poOasiTH

sheep- BiBLs (BiBII1)

cattle - Besimka porata xyao0a

COW - KopoBa graincrop—3epHOBaKyJIbTypa

2.Answer the questions on the text:

1.What part of Australia’s surface is cultivated?

2.What is the main grain crop in Australia?

3.Why do bed preparations and seeding take place during April to June?

3.Translate the sentences:

1) Water vapor falls rain to the Earth.

2) Great necessity caused primitive man to grow plants.

3) Without plants life neither animals nor men will not be ableto live.
4) The problem of rational utilization or natural resources is of great importance all
over the world today.

5) A group of students helped the farmers to build a new bar for cattle.
4.Fill in the gaps using the modal verbs.

1.We(mosunsi) do this work today.

2. They(smitots) speak English.

3.Yesterday he (mo3Bomnumin) to work at the laboratory.

4.(Moxwa) | come in.

5. Tomorrow you (rmoBuHHi) t0 go to Kiev.
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Text 3
1. Read and translate the text:

Agriculture in Canada

Canada is the second largest country in the world and covers more that 50
percent of the North American continent. Most of the population lives less than 450
miles from the United States border, and most farm land is found there as well.

Only 17 percent of Canada’s land is utilized for farming and of that only about
one third can be classified as good farm land. Most of the other two thirds are used
for permanent grazing.

The climate is mainly continental with long, cold winters and relatively short
but fairly warm summers. Winter grain crop varieties are not common, and the
spring crops are often of 90-day varieties suitable for the short frost-free growing
season.

Crop yields in the prairie regions are low by world standards due to limited
rainfall that also limits fertilizer application.

Field mechanization in these regions is based on U.S.- or Canadian - made
tractors, many of which are in the 200-to 350- horsepower range with four-wheel
drive and capable of pulling large implements. Most farms have self-propelled
combine harvesters and trucks for grain transport. Many farms have well-equipped
workshopscapable of handling common farm repairs.

Word list:

farm land - pepmepcbka 3emits

mechanization- mexasizartis

combine harvesters - kom6aifH( CiJIb,CHKOTOCIIOIaAPChKa MAIIMHA)

2. Answer the questions on the text:

1) Where is most farm land of Canada found?

2) What part of Canada'’s land is utilized?

3) Why are crop yields in the prairie regions low?

3. Translate the sentences.

1) British economists report that the automation of production will reduce the
number of workers by 15 per cent.

2) Both living and non-living components make up ecological systems that may be
of different size.

3) Man will not be able to live without growing plants for himself and for feeding
farm animals.

4) About 58-60 per cent of the milk produced in India comes from buffalo cows.

5) We know that man began domesticating animals very longago.

4. Fill in the gaps using the modal verbs.
1) We (3mosxxemo) to help him.
2) He (BmiB) swim.
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3) Students (moBuHHi) to study English.
4) We (mo3Boauin) to take books from the library.
5) She (moBunHa Oyia) to do it.

1. were allowed 2. have 3.has 4. shall be able 5. could

Text 4
Read and translate the text:
Agriculture in France

France is the largest country in Western Europe and has a very diverse countryside,
offering flat land, gentle rolling plains, and large mountains. Most of France is
blessed with rich farmlands, making it Western Europe’s leading agricultural
country. Agricultural France is also very diverse. The typical farm is in the 110-to
350-acrc range. Specializing in three to five crops and one to two different types of
livestock, of which dairy or beef cattle and pigs are most common. France's crops
include wheat, barley, rye, potatoes, sugar beets, various oil seeds and forage crops
for grazing, silage, and hay. In the Bordeaux region of France, grapes are produced
and arc used almost exclusively for the production of wine. French agriculture is
well mechanized with 200- horsepower tractors, and combine harvesters and
implements of European manufacture.

Londresl "Fa—y
2 Les espaces de production
o P < ! (PAC) agricole en lien avec les

~ |7 Ym0 marchés européens et mondiaux

Wordlist:

dairy — MoJIOYHaIPOMHUCIIOBICTh
beefcattleandpigs — macHanpoMucioBicTh ( BeIMKaporaraxya00aTacBrHi)
wheat - mmennns

barley - staminb

rye - )KHuTO

potatoes - kapToruid

sugarbeets — 1ykpoBuiiOypsiK

oil seeds — 3epHOBI /11 BUPOOJICHHS OJTi1

wine - BUHO

1. Answer the questions on the text:

1) What is typical French farm specializing in?
2) What are the main France's crops?

33



2. Translate the sentences.

1) Sugar beet cultivation is very popular in every country in Europe. America and in
many other countries throughout the world.

2) A common method of growing cabbage is to sow the seed in a green-house or
hotbeds in seed boxes 4-6 weeks before outdoor planting.

3) Maize originated in America.

4) Rye is a drought resistant plant which thrives under a great variety of conditions.
5) In two years my brother will become an agronomist.

3.Fill inthegapsusingthemodalverbs.

1. We (noBunHi) do this work today.

2. They (BmitoTn) speak English.

3. Yesterday he (mo3sonmin) to work at the laboratory.
4. (Moxwna) 1 come in?

5. Tomorrow you (moBuHHi) t0 go to Kiev.

1. Was allowed2. May 3. Can 4. Must  5.Willhave

Text5h
1. Read and translate the text:

Agriculture in Sweden

Sweden has great variations in climate and
topography. The countryside is generally flat or undulating,
but quite beautiful with thousands of lakes and extensive
forests.

Although less than 8 percent of Sweden’s total land | =
surface is suitable for cultivation (and most of this is found Fa o
in the southern third of the country), its farms furnish nearly
all food required.

The typical farm is in the 110- to 500-acre range, specializing in three to five
crops and one to two types of livestock, normally dualpurpose dairy and beef cattle

or pigs.

Common crops include winter and spring varieties of
wheat or barley, oats, canola seed, seed crops, sugar beets,
and various forage crops for green feed, silage, or hay.
Most protein supplements are imported.

Farm mechanization is based on 50- to 120-

. horsepower tractors, many of which are made in Sweden,
. and a high percentage of implements and combine
harvesters imported from Denmark or Finland

The climate is fairly uniform. Summers are relatively cool and rainy, and
winters are reasonably mild with snow falling three to four months of the year.
Some winter work includes clearing snow from roads and farmyards.

Sweden is nearly self-sufficient in most food products and has a small surplus
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in some. The government protects domestic production and subsidizes consumer
prices to assure fanners have an income comparable to that of other groups of
society.

Word list:
lake- o3epoforest —micsurface —osepxusihay -
CIHO

2 Answer the questions on the text:

1. What is the climate of Sweden like?

2. Describe the countryside of the country.
3. What are common crops in Sweden?

3.Translate the sentences.

1) No natural recourses on our planet have so many uses aswater.

2) Some bourgeois theories try to justify hunger by gar between food production
growth and population growth.

3) In Britain every agricultural college cooperates with some leading farms in
student practical training.

4) Any plant will grow here well.

5) Are there any foreign students in your group?

4.Fill in the gaps using modal verbs.

1) Next year he (3moxe) to read English articles.

2) The lecture (moBunHa Oy:1a) to begin at o'clock.

3) (ITorpiduo ) we do it?

4) The students (6yne mo3Boseno) to use different methods ofwork.
5) (Moxwna) | take this book?

1.Was2. Will be able 3.Must 4. Will be allowed 5. May

Grammar Review

1.Put the verbs in brackets into the correct tense Present, Past, Future Simple;
Present, Past Future Continuous

1. We (to be) very busy now. We (to discuss) a very important question. 2. Where
(to be) Peter? He (to have) his English lesson now? — No, he (to have) his English
tomorrow. 3. Where (to be) Susan? — She (to work) in the library at the moment.
She (to stop) working in an hour. 4. What children (to do) when you (to come)
home yesterday? - They (to play) in their room. 5. At two o’clock tomorrow we (to,
take) our French lesson. 6. This problem (to be) too difficult to discuss it now. | (to
think) we (to discuss) it tomorrow, when we (to have) more time. 7. He (to spend)
last week in a hospital. He (to be) ill. 8. Why you (not to put) your coat on
yesterday? It (to be) cold. 9. He (not to eat) when | (to come) yesterday. He (to read)
a book. 10. As a rule he (to translate) two articles a week. But he (to translate) three
articles last week. 11. She (not to see) me when | (to come) into the room. She (to
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read) at that moment. 12. We (to wait) for them at two o’clock tomorrow. We (to
be) sure they (to come) in time. 13. My friends (to walk) when it (to begin) raining.
14. Tomorrow he still (to work) when | come home. 15. Yesterday | (to return)
home at eight o’clock: it (to get) dark and (to rain) at the time. 16. I (to cut) my
finger when | (to peel) an apple. 17. Let’s go to the cinema when the lessons (to be)
over. 18. He (to become) furious when he (to understand) that he was late. 19. If she
(not to come) tomorrow, ring her up.

2. Put the verbs in brackets into the correct tense Present Perfect or Present
Continuous.

1. She (to have dinner) now. 2. She just (to have) dinner. 3. They (to talk) now? 4.
They already (to talk) about it? 5. He (to have) his English lesson today. 6. He (to
have) his English lesson at the moment. 7. What she (to do) now? 8. What she (to
do) this week? 9. Beth (to translate) the article now? 10. Who already (to translate)
the article? 11. Our teacher (to explain) a new rule now. 12. Your teacher (to
explain) you this rule today? 13. She already (to find) her key? 14. He already (to
have) his dinner?

3. Put the verbs in brackets into the correct tense Present Perfect, Present
Continuous, Present Simple or Past Simple.

1. Where (to be) my gloves? | (to look) for them. 2. Who can give him a pencil; he
(to break) his. 3. Where your sister (to be)? - She just (to go) to school. She (to
leave) home ten minutes ago. 4. When she (to return) to Kyiv? — She (to return)
this week. 5. What you (to read) now? — I (to read) “ White Fang”. You ever (to
read) this book? 6. You (to remember) me? We (to meet) here this month. 7. They
already (to discuss) this question? - Yes, they (to discuss) it last week. 8. Where
mother (to put) my magazine? | (to look) for it now. 9. Whom you (to wait) for? —
We (to wait) for the doctor. — The doctor (to go) out some minutes ago. 10. | (not
to have) any news from them since they (to leave) Kyiv, 11. Your children already
(to read) this text? — Yes, they (to read) it at the last lesson. 12. There (to be)
nobody here now. All the students (to go) home. 13. It (to be) dark in the street now.
The sun already (to sit). 14. When you (to hear) the news? — | (to hear) them last
Saturday. 15. What you (to do) now? — | (to write) a letter to my friend. — When
you (to receive) his letter? — I (to receive) it today. 16. Your son already (to do) his
lessons? — Yes, he just (to finish) doing them and now he (to watch) TV. 17. It (to
rain) now? - No, it (to stop) raining an hour ago and now the sun (to shine). 18. She
(to learn) the new words and now she (to translate) the text. 19. Your child already
(to get) a passport? - Yes, he (to get) it two days ago. 20. It (to be) time to go. You
(to finish) your work?
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Module 6

Selection of agricultural crops
“The agricultural biotechnology is of the greatest importance”

Read and translate the text:
Selection of agricultural crops

Selection is an important direction of agronomy. For a long time plant-breeders
have been breeding new varieties of drought-resistant grain crops and other
agricultural plants which are resistant to the unfavorable climatic and weather
conditions. At the same time they are characterized by a high yield productivity.
The agricultural biotechnology is of the greatest importance. It should create the
new highly productive varieties and hybrids of the agricultural plants, biological
means of the plant protection, different preparations and the ways of the waste
recovery
[ \ Thanks to the cell engineering the researchers have
bred an unvirus substance for different potatoes varieties.
They have beenbreeding new varieties and hybrids of
grain crops, fruits and vegetables. They breed seeds of
| sugar beets in the form of seedlings. Later they are ready
@8  for the further sowing in the granule form.

A : The biotechnology is based on the fact that a celled
organlsm IS fuIIy preserved by a gene of the previous type. Simultaneously this
simplest organism has much common with the microorganism. Exactly it is a basis
of the cell engineering and biotechnology. The plant cells are able to divide without
any limit.

It's necessary to keep the cell sterility and that's why we use
special utensils. The cell amount for the cultivation is provided
with the help of the plant organs processing. Their cultivation is
provided into separate cells. They are put on the nutrient
environment. The gene engineering is based on the molecular
biology. It gives the possibility of inserting changes into the
molecular interaction of the principal molecules inside the cell and outside it.

Recombinant DNA is used and will be used in the work with microorganism for
the production of different valuable substances in medicine, biochemical industry
and agriculture.Besides their use is connected with two important discoveries. New
techniques developed a rapid analysis of complicated biological molecules. After
analysis came synthesis. The first gene was synthesized. Then it became possible to
synthesize necessary genes.

The construction technology of recombinant DNA is the most important
achievement of the biotechnology. The agricultural, possibilities of such techniques
are almost as exciting. For example, it may become possible to transfer the
nitrogen-fixing genes of certain bacteria to plants such as cereals which are unable
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to fix nitrogen. Should this prove possible, the savings in terms of fertilizer and
improved soil fertility will be enormous. Similarly of there is the prospect of
transferring to a number of different crops civic genes responsible for improved

yield or pest resistance.

Learn the words:
selection - cemekis preparation - mpemnapar
cell engineering - kniTrHHA iHXEHEpis
hybrid - ribpux gene - ren
simultaneously - ogHouyacHo
processing - oopooOka
to transfer —epenaBatu
cereals - 3epHOBI
dezoxyribonucleicacid - ne3okcupuOoOHyKIIeTHOBA KHCIOTA
(DNA)-(IHK) nitrogen - fixing genes - Oyab004koBi OakTepii
(hIKCYrOThaTMOC(EPHHIL a30T
plant— breeder - cenexmionepcell - xniTuna variety - copr
granule - rpanyma
gene engineering —reHHaimkenepis utensils - mocy interaction —
B3aemomisbacterium (pl. bacteria) - 6akrepis pest resistance - mporuis
K1 THUKAM

1.Answer the following questions:

What is the selection purpose?

How are new plant varieties characterized?

What should the agricultural biotechnology create?
What have the plant-breeders been breeding?
What is the biotechnology based on?

What is the basis of the cell engineering?

What do we use to keep the cell sterility?

What is the gene engineering based on?

Whenis the recombinant DNA used?

What are two important discoveries in the gene engineering?
What substances are transferred for cereals?

2. Translate into Ukrainian:

K1

1. Plant-breeders have been breeding new highly productive grain varieties for a
long time. 2. For ten years the researchers have been inserting changes into the
molecular interaction. 3. The scientists have been breeding new sugar-beets
varieties for a long time. 4. Plant-breeders have been breeding new grain crops

varieties with a high productivity and useful heredityfor many years.

3. Use Present Perfect Continuous:
1. Plant-breeders (to breed) new varieties and hybrids of grain crops.

2. They (to create) new highly productive varieties of agricultural plants. 3. The
researchers (to breed) an unvirus substance for different potatoes varieties. 4. The
scientists (to transfer) the nitrogen-fixing genes of certain bacteria to cereals for
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twenty years.

4. Fill in the gaps with the necessary verbs:

1. The agricultural biotechnology ... new plant varieties with a high productivity and
good heredity. 2. The farmers ... new varieties of feed crops. 3. The researchers ...
special utensils to keep the cell sterility. 4. The gene engineering ... changes into the
molecular interaction of the principal biological molecules inside the cell and
outside it. 5. The researchers ... necessary genes with a high productivity and useful
heredity.

to synthesize,to create, to use, to sow, to insert

5. Read and translate:

DNA is the basic genetic material present in most animate organisms. Molecules of
DNA are found in a cell's chromosomes. Chromosomes occur in pairs: one from the
mother and one from the father. The number of chromosomes differs from spices to
species.

DNA is made up of genes, linear sections of a DNA molecule which contain the
instructions for the development of a DNA molecule
characteristics that living things inherit from their forbears.
DNA molecules contain the genetic instructions needed for
cells toorganize strands wrapped around each other to form a
double-helix.

6. Translate into Ukrainian:
The plant immunity and the pest resistance have substantially

increased after the seed processing with special preparations.
The special combination of different plants during the vegetation time is of the
greatest importance. The researchers found out that the hemp plants in the sugar
beets field may liquidate pests. A lot of different wild plants may be poisonous for
pests and microorganisms. In Germany farmers sow different wild plants. Their
leaves resist the pest multiplication. Different substances preserved in the leaves
protect the agricultural plants from pests and microorganisms. The substances are
also synthesized artificially.

fungus (pl. fungi) —rpuOkm;wild species - nauki Buam;Cross - breeding-
cxperryBanHs;trimmed - ocyrieHui

7.Translate into English:

1. Cenekmisi € BaXJIMBHM HampsMoM arpoHomii. 2. CenekiioHepyu BHUBOJSATH
MOCYXOCTiiKi copTu. 3. HOBI cCOpTH XapaKTepu3yIOThCsl BUCOKOIO BPOKAWHICTIO. 4.
CutbecbKOrocnoiapcbka O10TEXHOJIOTISI CTBOPIOE BHCOKOINPOAYKTUBHI COPTH 1
riopuau. 5. JlocnigHuKY BUBEIU O€3BIPYCHY PEUOBHHY ISl PI3HUX COPTIB KApTOILII.
6. Mikpoopranizmu € 6a3010 KJIITHHHOI 1HXeHepii. 7. I'eHHa iHxkeHepis 0a3yeThcs
Ha MoJiekyJsipHiit Oionorii. 8. JIHK mae Burisim goBroi moaBIHHOI CripajibHOL
MOJIEKYJIM B SJIpl KJITHH, 110 MICTUTh F€HETUYHHUM KOJ 1 CHPSIMOBYE PO3BHUTOK 1
(GyHKILI0HYBaHHA BCiX KITHH. 9. CydacHi TEXHOJIOTI] pO3BUHYJIM IIBUJIKUA aHAII3
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ckinaaHux Oiojoriunux moisekyn. 10. CenekuioHepu BHBOIATH cHElU(idHI Te€HH,
SK1 PEeryJIIOI0Th M1BUIICHHS BPOKalHOCTI.

Grammar Review

1. Put the verbs in brackets into the correct tense Past Simple or Past Perfect.
1. When the police (to arrive), the car (to go). 2. George (to finish) doing his
homework at eight o’clock. 3. When she (to get) to the shop, it (to close). 4. The
train (to leave) when he (to come) to the station. 5. We (to eat) everything by the
time he (to arrive) at the party. 6. | (to know) that he (not to learn) the poem. 7.
When they (to leave) the beach, the rain already (to start). 8. Arthur (not to know)
that we already (to arrive). 9. When | (to come), | (to see) that mother (to cook)
dinner. 10. My friend (to study) English before he (to enter) the institute. 11. The
car (to go) when 1 (to look) into the street. 12. He (to take) the decision before 1 (to
come). 13. Nick (return) from office by seven o’clock. 14. We (to get) to the
stadium at four o’clock but the game already (to start). 15. She (to come) at six
O’clock. 16. I (to think) that my parents already (to return). 17. He (to be sure) that
we (not to recognize) him. 18. You (to find) your key which you (to lose) before?
19. Meg (to say) that she (to be) in this city. 20. The doctor (to arrive) when we
already (to help) him.
2. Put the verbs in brackets into the correct tense Present Perfect, Past Simple,
Past Continuous or Past Perfect.
1. They are happy because their child (to enter) the university. 2. It (to be) great to
see her last week. 3. Sorry I (not to phone) you earlier. 4. He was very sorry to hear
that you (not to come) in time. 5. We hoped they (to get) home before the rain (to
start). 6. 1 am glad he already (to return) from his business trip. 7. Whenever | (to
drive) past that restaurant, there always (to be) a lot of people. 8. You ever (to be) to
an open-air concert? 9. My parents were angry because | (not to pass) my exam. 10.
His brother told him that he (to eat) all the fruit which he (to buy). 11. At this time
two weeks ago we (to lie) on the beach. 12. Beth (to become) pale when she heard
the news. 13. 1 (not to be) impressed with his new car when | (to see) it yesterday.
14. The Aztecs (to be) an American Indian tribe who (to live) in Mexico. 15.
Yesterday when | (to look) out of my window, | (to see) that my children (to run) in
the garden. 16. | (not to speak) to you since last week. 17. 1 was sure he always (to
be) your best friend. 18. Janet never (to take) part in the concerts. 19. When she (to
come) home, her son (to have) supper. 20. | (to read) all the articles before mother
(to come).

Module 7

Industrial production
Pre-text

“the most important agricultural crop”

Read and translate the text:
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POTATOES CULTIVATION

Potatoes belong to the most important agricultural crops.
It's very valuable for the human nutrition. The potatoes value is
determined by the high tasty data and favourablechemical
composition for the human health. Generally its tubers contain
about 75-80% of water and up to 25% of dry substances. The
protein content is up to 20%. It is easily absorbed and divided
into sugar amounts. According to its amino acid content potatoes are very close to
meat. Potatoes tubers contain much potassium, calcium, magnesium, phosphorous
and iron.Potato is a valuable feed crop especially for pigs. It is also a valuable
industrial crop. We use potatoes as a principal raw material to produce glucose,
starch, alcohol, etc. Potato is a tillage crop. It is of a high g
agro technical importance. It influences positively upon the
grain crops if it is sown the next year. Potatoes belong to
the crops of the moderate climate. If the temperature falls
to 7-8 degrees below zero or rises up to 30 degrees over
zero, potatoes stops its vegetation. This crop is very -
demanding to moisture. It forms a big underground amount having a developed root
system. If the soil humidity is 75 - 80%, a high potatoes yield is harvested. Potato is
cultivated on the sandy and loamy black soils and grey forest soils. Former peat
deposits are good for the potatoes cultivation. Potato is high-yield on the sandy soils
with a substantial amount of the organical fertilizers. It is low-yield on the clay soil
and shale. Flax, winter crops and perennial grasses positively influence on a high
yield of potatoes. A main task of the soil tillage is a deep ploughing of a soil layer,
the formation of the favourable water and aerial conditions, the weeds destruction,
the moisture preservation and theincrease of the soil nutrient substances. In order to
increase the soil fertility and the yield capacity it's very important to enrich fields
with organically fertilizers. After fertilizing the seedbed is plowed again. Later it's
necessary to sow quick-growing cabbage crops, oil reddish, mustarded. Organically
fertilizers and hydrates improve the soil structure and the yield capacity, Mineral
fertilizers such as nitrogen fertilizers and calcium saltpeter also improve the yield
capacity.

The seed material preparation is an arduous process. It foresees both the tuber
preservation in the winter time and job in spring. In spring it's necessary to warm
and germinate the selected tubers. It is also necessary to disinfect them before the
sowing.

Nowadays about 70 potatoes varieties are utilized in agriculture. Depending on
their utilization they are divided into four groups: food varieties, feed varieties,
industrial varieties and universal varieties.

1. Learn the words:

aminoacid - amiHOKHCIIOTa
arduous - TpyoMicTKuiA
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black soils - cymimani yoprozemu
calciumsaltpetre - kanbIifioBa cemitpa
clay soils - rmunamcTi rpyHTH

content - BMicT

Crop - mpocarHa KyJIbTypa

grey forest soils - cipi micosi rpyHTH
high-yield- BucoxoBposxarinuii
low-yield- Hu3bKOBpOXKAHMI
magnesium- Maruii

tillage root system - kopeneBa cucrema
loamy shale - cianenp

starch - kpoxmaip

to germinate - npoporuryBaTu

to warm - mporpiBatu

underground amount - mia3emMHa
weeds - Oyp'ssHu

yield capacity - BpoxxaiiHiCTh

2. Answer the following questions on the text:

1.How is the potato value determined? 2. What is the chemical composition of
potatoes tubers? 3. What products are produced from potatoes? 4. What crops do
potatoes positively influence on? 5. When do potatoes stop its vegetation? 6. What
soils are good for the potatoes cultivation? 7. Where is potatoes low-yield? 8. What
IS it necessary to do after fertilizing the seedbed? 9. What is it necessary to do with
the selected tubers in spring? 10. How many potatoes varieties are utilized in
agriculture? 11. What groups are they divided into?

3. Translate into Ukrainian:

1.The protein will be easily absorbed and divided into sugar.

2. Potatoes will influence on the grain crops. 3. Flax, winter crops and perennial
grasses will be cultivated on the fields. 4. The seed material preparation will foresee
the tuber preservation at the wintertime. 5. The feed varieties of potatoes will be
grown for pigs.

4. Fill in the blanks with the necessary verbs:

The potatoes need for moisture ... in the blossom time. 2. The root system ... more
oxygen than other plants. 3. In order to increase the soil fertility and yield capacity
it's necessary ... fields with organical fertilizers. 4. The ammonia saltpeter insertion
... the vegetation.

toenrich  toabsorb toincrease to facilitate

5. Translate the following sentences.

The chemical method of the weed destruction is very effective. It's necessary to use

the agro technical method. First of all it foresees the field choice,

the effective spring tillage and the row middleploughing. If the
effectiveness is not sufficient, it's necessary to use different

herbicides.
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6.Translate the following sentences.

The Colorado beetle is a principal pest of potatoes fields. It is accustomed to
different climatic and weather conditions. It is also characterized by a great fertility
and voracity. Each bug female lays about 3000 ova. Its larvae may destroy potatoes
plants on the area of2,5ha. That's why it's necessary to spray insecticides twice
during the vegetation time. We may use different insecticides mostly of
phosphorous and organically composition. Nowadays the portrayed variety of
insecticides is widely spread in Ukraine.

7.Translate into Ukrainian.

The early varieties of potatoes are harvested before the physiological maturity of
tubers comes. The early varieties for seeds preservation are harvested in August.
The late-ripening tubers are harvested by the first of October. The ground frosts
may damage tubers. We can use three harvesting methods. In-line harvesting, the
combine harvesting and the separate harvesting.

8. Characterize the Dutch technology of the potatoes cultivation:

The Dutch technology ensures a high yield capacity. It's necessaryto follow the
range of plants. One must apply a lot of organical and mineral fertilizers. Heavy
harrows are used in spring to preserve moisture. Each tuber should be about 55 mm.
The distance between each tuber must be 22-24cm. The width of row middles
should be 75cm. The tubers are planted at the depth of 6cm. It's necessary to form
the furrow ridge. It's also important to put tubers at the equal depth. It facilitates a
quick germination.

9. Translate into English:

1.KapTomisi HaJIeXKUTh 0 HAWBAXJIUBIIMIUX CUIbCHKOTOCTOIAPCHKUX KYJIBTYp. 2.
Byns6u wmictate 75—80% Bomm 1 gm0 25% cyxux pedoBuMH. 3. 3a CBOIM
aMIHOKHCIIOTHHM CKJIAJIOM OUTOK OJMM3bKUMN 10 M'sica. 4. 3 KapTOIUTi BUTOTOBIISIOTH
COUpT, KpoxMmana 1 rimoko3y. 5. g kymbTypa — ayke BUMOIJIMBA 10 BOJIOTH,
OCKUTbKM (OpMye BENMKY MiA3€MHY Macy I@pH BIJHOCHO MaJIOPO3BUHYTIH
KOpPEHEeBil cucTemi.

6. Kapromis BupollyeTbcs Ha CymilllaHuX 1 CYyTJIMHUCTUX YOPHO3EMax, TEPHOBUX 1
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cipux micoBux rpyHrax. 7. Kapromis noOpe poauTh Ha MIMAHUX IPyHTaxX MpH
BHECEHHI 3HAYHOI KIUIBKOCTI OpraHiyHux Ao00puB. 8. OCHOBHUM 3aBIaHHSM
0o0poOITKY TPYHTY MiJi KapTOILII0 € TIUOOKE PpO3MYyIIyBaHHS OpHOro Imapy. 9.
[TinroToBKa HACIHHEBOTO MaTepialy € TpyaomicTkuMm tmporecom. 10. Hapasi
BUKOPHCTOBY€ETHCA MOHAA 70 COPTIB KapTOILII.

Basic work
Read and translate the text:

HOP CULTIVATION

: Hops belong to the hemp group of plants. The

Ukrainian varieties belong to the ordinary hops varieties.
> It is a perennial plant which consists of the underground
& and over ground parts. The hops foetus is a firm grayish-
brown cone 3 mm long and 2 mm wide.

Hop is very demanding to the natural and climatic
conditions. It substantially influences on its development
and productivity. It is a crop of the temperate climate.
Hops is cultivated in the zones with the average annual temperature of 8 degrees
over zero in spring, with the average daytime temperature 17-19 degrees over zero
at the vegetation time and without any sharp change in the afternoon and at
night.Hops like humidity. It needs 500-600 mm of the annual rainfalls. About 250-
300 must fall on the vegetation period. Hops require relative air humidity of about
70-80 per cent. The light positively influences on the yield and especially on its
quality. During the vegetation time hops requires 1600 hours of the sun radiation.
Hops need about 700-750 hours of radiation during blossoming and about 850 hours
of the sun radiation before harvesting.

Hops need peculiar soils. Its best soils are turf - podzol, grey forest and black soil.
Hop planting is a very responsible agrotechni- cal process. The further vegetation,
the life duration and productivity of hops plants strongly depend upon hops. The
best planting term is autumn and the best planting material is a seedling.

The forest planting machine MLU-1 as an implement with a tractor is used for the
mechanized planting.

The aromatic varieties with a small percentage of bitter particles are widely used
in the modern selection. The bitter varieties were used earlier. The hops varieties
contain a certain quantity of common pitches, Alfa-acids, beta-acids, common
polyphonies and the volatile oil in the laboratory samples of the cones after the
recount to the dry substance quantity.

Different hops varieties of the Ukrainian and foreign selection are cultivated in
our country. They are the British varieties: Northern Brewers, Brewers Gold,
Bullion, etc. Ukrainian hops varieties are Alta, Kumir, Polyssian, Zagrava, etc.

Ukraine occupies a certain position at the world and European hops market.
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1. Learn the words:

acid - kucnora

annual - piuanit

aromaticvariety - apomatudHHl COPT

bittervariety - ripkwuii copt

blacksoil - wopHO3em

cone - mumka

foetus - g

hemp group - poauna konorteBuxhumidity —sosmoraparticle -
yacTka perennial —6araropiunuiipitch - cmoa sample —
3pasokseedling —camkanerptemperate climate - momipumii
kiaimar volatile oil - edipna omist

2.Answer the following questions:

1. What groups of plants does hops belong to? 2. How can you characterize hops as
a plant? 3. In what zones is hops widely cultivated? 4. What are the climatic
conditions for the hops cultivation? 5. What soil does hops need? 6. What terms are
the best for hops planting? 7. What substances does dry hops consist of? 8. What
hops varieties are cultivated in our country?

3.Translate into Ukrainian:
1. Hops can be grown in the temperate climatic conditions. 2. The average annual
temperature must be very favourable for hops. 3.Bitter hops varieties could be
sy cultivated earlier. 4. Aromatic varieties are to be
cultivated now. 5. Different hops varieties of the
Ukrainian and foreign selection have to be cultivated
now. 6. The annual rainfalls about 250-300 mm must
. fall on the vegetation time.
4. Translate the words in the brackets into English:
1. Hops (moxe) be very profitable. 2. We (moBunHI)
apply mineral and organically fertilizers. 3. Hops (mo>xxe) be harvested in August. 4.
Bitter hops varieties (morun) be cultivated earlier.

5.Translate into Ukrainian.

The majority of pesticides are very poisonous for the people. Pesticides check
weedy growth. Pesticides may be applied as a powder. They are a control agent
against weeds and insects. But it's very important to be rather careful applying them.
The pesticides should be kept in special stocks with a concrete floor. It must be
isolated from any other premises. It's necessary to have special scales, wash-basin,
soap, towels and the means to render poisons.

6. Fill in the blanks with the necessary verbs:

1. Hops ... relative air humidity. 2. The bitter hops varieties ... earlier. 3. The light
positively ... on the yield and especially on its quality. 4. Different hops varieties ...
in our country.

to cultivateto use to requireto influence
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7. TranslateintoEnglish:

1. XMinp HaNEXUTh IO POAWHU KOHOIUIEBHUX. 2. XMUIb - Ty’K€ BUMOIJIUBHHA [0
OPUPOJIHUX 1 KIIMaTUYHUX yMOB. 3. Bin motpedye 500-600 mm piunux omamis. 4.
[Tix gac Bererarii xminb notpedye 1600 rogun consunoi pamiarii. 5. Halikpammmu
IPYHTaMH € MiJ30JHUCTi, CIpl JICOBI IPYHTH 1 4OpHO3eMHU. 6. Pi3HI copTH XMenro
yKpaiHChKOi 1 3apyOiKHOI CeNeKIlii BUPOIIYIOThCS B Halmiid KpaiHi. 7. YkpaiHa
3aiiMa€e BIIMOBIHE MICIIE HA CBITOBOMY 1 €BpPONIEHCHKOMY PUHKY XMEIO.

1. Retell the text.
SUGAR-BEET CULTIVATION

The sugar-beet is a two year plant. It forms a welldevelopedtuber. The seedsabsorb
much moisture at thegermination time. The sugar-
beetseeds must be sown into theplowed soil. The
seeds sprout atthe temperature of 3—4 degreesover
zero. If the soil is enoughhumid and warms up to18
| degrees over zero, the sugar-beet shoots will
germinate in 7-8 days. It's very important to reduce
" the term between the sowing and the germination of
shoots. Shoots absorb the nutrient substances of seeds before they sprout. First
leaves appear in ten days. Leaves start growing very quickly. The sugar- beet yield
depends upon the moisture quantity especially in July and August.Sugar-beets need
a sufficient amount of the nutrient substances in the ground. The fertilizing system
requires a sufficient fertilization in three terms: the principal fertilizer is applied in
autumn. At the sowing time we apply the row fertilizers. And at the vegetation time
the sugar- beets need some nutrition. That's why sugar-beets are very high-yield on
the fertile soil. Sugar-beets are also cultivated on the loamy soils and grey forest
soils. It is low-yield on the clay soils.

Sugar-beets occupy the second place in the range of
plants after wheat. A regular range of plants and a
proper ploughing ensure high and stable yield of sugar-
beets.

The highest yield of sugar-beets with the biggest
& sugar amount is harvested at the period of the growth

S SaIWs  cessation. Too early and too late terms of harvesting
cause the y|eld Ioss Generally the tuber amount increases in August and September.
Simultaneously the sugar amount increases up to 2,2%.

Sugar-beets are mostly harvested with the help of the special equipment. There
are three ways of harvesting: flow, roll and mixed harvesting. The sugar-beet top is
cut simultaneously. Sugar-beet combines dig tubers. In order to get rid off sugar-
beet losses, it's necessary to adjust all the combine mechanisms taking into account
the soil humidity, the top height and the tuber size.

2. Learn the words.
cessation — npunuaennsaflow harvesting - motokose 30upaHHs
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germination — mpopoctrarnashumid — Bostoruitmoisture — Bosoranutrition
— xxuBnennsroll harvesting - mepesanoune sugar amount - maca
ykpysugar beet top - ruuka mykpoBux OypsikiB to adjust - perymoBaru to
cause - Bukimkaty to dig — kormatuto increase — 30iabITyBaTHCHLO Sprout -
npopoctaT {0 warm - nporpiBaTHCs

3.Answer the following questions:

1. What do you know about sugar-beets? 2. How do the seeds sprout? 3. What does
the sugar-beet yield depend upon? 4. What types of soil are the most fertile for
sugar-beets? 5. What is the sugar-beet place in the range of plants? 6. What does the
fertilizing system require? 7. When is the highest yield of sugar-beets harvested? 8.
When does the sugar-beet increase? 9. How many ways of harvesting do you know?

4. Translate into Ukrainian:

1. Shoots absorbing nutrient substances sprout very quickly. 2. Destroying weeds
tractors plough the soil. 3. Increasing the norms of fertilizers we can harvest a
bigger quantity of sugar-beets. 4. We harvest a high yield applying manure.

5.Fill in the blanks with necessary verbs:

1. First leaves ... in ten days. 2. The sugar-beet yield ... the moisture quantity. 3. The
seeds ... much moisture. 4. The sugar-beet combines the tubers. 5. They... the
sugar-beet top.

to cut to depend upon to absorb to appear to refine
5. Translate into Ukrainian:
Sowing protection
The soil harrowing is very important before the shoots appear. It improves the air
and temperature conditions of the soil. At the period between the sowing and
germination of shoots the soil is compressed. The harrowing is the most efficient in
5-6 days after sowing.

6. Translate the following sentences:

The technology of the sugar-beet mechanized production deals with the
minimum waste of the hand-operated job and correct norms of sowing. It's
necessary to take into account the seed germination, pest destruction and the
mechanized way of the shoot gapping.

8.Translate the text:
REDUCTION OF YIELD WASTE
Harvesting sugar-beets it's very important to reduce the
# vyield waste. It mostly depends upon the type of the
. harvesting machinery, its adjustment and the quality of the
i seedlings. Sugar-beets may be undug or lost during the
transportation. The most progressive way of the mechanized
* harvesting will prevent from the yield losses. Itincludes the
~ utilization of the adjusted equipment and a proper labour
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organization.
9.Using the sentences write the composition:

In order to organize the sugar-beet production more effectively the plant-breeders
use the gene engineering. It helps to get rid off the microorganisms. That's why
different herbicides and pesticides may be used. But they may be very dangerous for
the environment. The most progressive way is to prepare seeds of a good quality.

10.Translate into English:

1. Hacinuga noriauHae 6araTo BOJIOTH I Yac MPOpPOCTaHHS. 2. SKIIo TIPyHT €
ONTUMAJILHO BOJIOTMUM 1 mporpiBaetbes a0 +18°C, cxoam IyKpoBHX OypsKiB
npopocTaroTh 3a 7-8 aHiB. 3. Jlye BaXJIMBO CKOPOTHUTH 4Yac MK IOCIBOM 1
npopoctanHsaM. 4. IlykpoBi Oypsky moTpeOyrOTh JOCTaTHLOI KIJIBKOCTI MOKUBHHUX
peuoBuH y rpyHTIL. 5. LlykpoBi Oypsiku 3aliMarOTh Apyre Miclie y CiBO3MIHI IMiCJIS
nmennni. [lix 1mykpoBi OypsKHM BHOCATHCS OpraHiyHi 1 MiHepanbHI J0OpHUBa.
HaliBuiumii Bposkail IyKpoBHX OypsIKIB 3 HAaHOUIBIIUM BMICTOM I[YKpPY J1OCSATAETHCS
B NEpioJl NPUINHHEHHS pocTy. 8. Maca KOpeHEIIoAiB 30LIbIIYEThCA y CEpIHI 1
BepecHl. 9. LlykpoBi Oypsiku B OCHOBHOMY 30MparOThCsl 3 JOMOMOIOK0 CIELIaIbHOTO
o0sagHaHHS.

Grammar Review

I. Put the verbs in brackets into the correct tense Present, Past, Future Simple;
Present, Past, Future Continuous; Present, Past Perfect.

1 .1 (not to know) what time (to be) now.My watch (to stop). 2. Usually he (to
come) home at seven o’clock but yesterday he (to come) at nine. 3. We (not to go)
to the theatre next Friday as we (to be), there a week ago. 4. At last we (to stop)
working and now we can have a rest. 5. What he (to do) now? — He (to paint) the
wall. 6. Yesterday she (to pay) for her ticket and (to leave). 7. Peter (to be) ready in
ten minutes. He (to take) a bath at the moment. — If he (not to take) a bath soon, |
(to go) for a walk alone. 8. Mary (to clean) the room and John (to make) the dinner.
9. She (to be) surprised now: someone (to put) flowers for her. 10. When we (to
warn) them about the danger, they (to leave) the city. 11. My son (to watch)
television — his favouriteprogramme (to be) on now. 12. They (to be) in our
country for some years | think. 13. Now | (not to be) sure that he (to do) his lessons
at four o’clock. 14. Our manager signed the documents and (to go) upstairs. 15.
How many times you (to see) him since he went to London?

Module 8

Vegetable and fruit production
Pre-text

’

“Taste qualities area very important factor...’

Read and translate the text:
HORTICULTURE
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Horticulture is an important branch of agriculture. The industrial fruit plantings

‘ e are classified according to the fruit varieties: apple-

Y trees, pear-

’” trees, plum-trees, cherry-trees, apricot-trees, peach-trees.
According to the ripening terms they are classified as early-
ripening, middle-ripening and late-ripening. In order to
increase the yield capacity it's necessary to form the tree
crown. It's very important to reduce the crown. It must be
less than the root system. Each branch is cut in such a way that the bottom branch
should be shorter than the top one. Before the trees start bearing fruits, the gardeners
cut all the unnecessary branches and ensure the maximum yield capacity. In order to
increase the fruit productivity it's necessary to choose fruit varieties very correctly.
They must be resistant to the unfavorable climate conditions. The fruit varieties
must have a high yield capacity. The fruits should have a good tasteand a proper
technological quality. It's necessary to choose correctly the fruit varieties in the
garden planting.

The principal task of the soil tillage is to increase its fertility. We must use
ploughs and harrows. The weeds are rooted out with the help of special implements.
Herbicides are also used to root out all the weeds. It's necessary to follow the norms
of the safety technique. The gardeners must apply organically fertilizers once in 3-4
years. But the mineral fertilizers are applied each year.

Strawberry, raspberry and currants belong to the berry crops. Strawberry grows
on all the soil types with the exception of lime, clay and marshy soils. Raspberry
and currants are very demanding to the soil type. Organically and mineral fertilizers
are mostly applied before planting. Harvesting is the most labour-intensive process
in horticulture. The fruits must be ripe. Then they'll be well preserved. The ripening
proof is the size and the fruit colorings intensity. Fruits easily split off the branch.
The crumb density and taste qualities are also a very important factor at the
harvesting time.

1. Learn the words:apple-tree - s6irynst apricot-tree - abpukoc branch - rinaka
cherry-tree - BUIIIHA CrOwWN - KpoHa

crumb and peel density —minpHICTEM'sIKyIIIA 1 IIKIpKK CUrrants - cmopoauna coloring
Intensity - iIHTEHCUBHICTH 3a0apPBICHHSIILIONA

horticulture- cagiBHUIITBO

labor-intensive process - Tpy1oMicTKui mpoiiec

marshy soil - 3abomoueHuit rpyHT

peach-tree- mepcuk

pear-tree- rpyiia

planting- HacamkeHHs

plum-tree- causa

raspberry- manuna

ripe- cturimi

ripening- cTUTIICTh

ripening proof - o3Haka cTuriocTi
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soil tillage - 06pobiToK TpyHTY
strawberry- momyHwmIIs

to bear fruits - momonocutu
to root out —BuUKOpIHIOBATH

2. Answer the following questions on the text:

1. How are the industrial fruit plantings classified? 2. What is it necessary to do in
order to increase the yield capacity? 3. What form must the tree crown have? 4.
What do the gardeners do before the trees start bearing fruits? 5. What is it
necessary to do in order to increase the fruit productivity? 6. What is the principal
task of the soil tillage? 7.Why do we use herbicides? 8. What fertilizers must be
applied? 9. What crops belong to the berry crops? 10. What factormay be
considered as a ripening proof of fruits and berries?

3. Translate into Ukrainian:

1. The plant-breeders started breeding new frost resistant fruit varieties last year.
2.A lot of people are fond of planting fruit trees and berry bushes. 3. We stop
strawberry harvesting in June. 4. The scientists suggest applying nitrogen fertilizers
in the gardens.

4.Fill in the blanks with the necessary verbs:

1. The gardeners ... the tree crown in spring. 2. We ... the resistant fruit varieties. 3.
Before the garden planting the gardeners ... all the weeds. 4. Strawberry, raspberry
and currants ...the berry crops.5. We ... organically and mineral fertilizers.

to cutto chooseto root outto belong toto apply
5.Read and translate the following sentences.

Viticulture is an important branch of horticulture. Grapes belongs to the
perennial liana group. It is a drought-resistant plant. It may grow on different soil
types, but it is high-yield on the fertile soil with a substantial humidity. The
underground part of the bush consists of a wide root system. The over ground part
of the bush consists of skeleton and fruit-bearing branches. In order to increase the
yield capacity it's necessary to connect chips with the principal bulk of the plant.
Fertilizing is also very important for grapes. The yield is harvested in a short period
of time when the fruits are ripe and the sugar content is not less than 14%.

6.Using the sentences write the composition:
It's necessary to prune trees in spring. It limits the size of the branches and increases
the yield capacity. Pruning rejuvenates trees, berry crops and grapes.

7. Read and translate without a dictionary:

In order to increase the yield capacity the scientists breed new varieties of fruit and

berry crops. The new varieties are resistant to the unfavorable climatic conditions.

The varieties are divided into early-ripening and late-ripening varieties. The grapes
varieties are divided into dining and industrial ones.

«
.

7~ 8. Translate into English:

gBa 1.CafiBHMITBO — BaKJIMBAraly3bCiIbCHKOTOrOCIOAapCTBa. 2.
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Jlnst Toro, mo6 301IBITUTUBPOKANHICTE, HEOOXITHO (opMyBaTH KpOHY IepeB. 3.
KoxHa rinka gepeBa 00pi3a€eThes Tak, M00 HIDKHS T1TKa 0yJia KOPOTIIOK BEPXHBOI.
4. llepen TuMm, sIK epeBa MOYNHAIOTH TJIOJOHOCUTH,CAIBHUK 00pi3ye BCi
HENOoTpPiOHI TiJKK 1 3a0e3meuye MakCUMalbHy BpOXKalHICTh. 5. ['070BHE 3aBHaHHS
00p0oOITKY TPYHTY ToJIsATae y 30UIbIIIEHH] Horo poarodocTi.6.llepen mocaakoro camy
NOTPiIOHO 3HUIIUTH BCl Oyp'ssHU. 7. MiHnepanbHi J0OpHUBa BHOCATHCSA KOKHOTO POKY.
8. IlomyHuirs, MajdvHa i CMOPOJMHA HAJEXaTh N0 STITHUX KyJIbTyp. 9.30upaHHS
BpOXKAI0 € HaWOLIbII TPYAOMICTKUM IporiecoM y camiBHUITBI. 10.1LiabHICTD
M'SIKyIIIa 1 MIKIPKH SOIYK € JTyKe BaKIUBUM (DaKTOPOM i1 yac 30MpaHHs BpOXKalo.
Basic work

Vegetableproduction
1. Learnthewords:
beets - Oypsiku
bulb - muOymuna
cabbage - kamycra
carrot - MmopkBa
condiments - nmpurnpasu
cucumbers - oripku dill - oxpin
early-ripening - paHHbOCTHUTIIUH
garlic - yacHuk
greenhouse - Terumms
late-ripening - mi3HbOCTHIIINI
middle-ripening - cepeaHbOCTHIIIHIA
onion - nuOys
parsley - metpyika
pepper - nepeipb
range of vegetables - 3mina
salt solution - po3unH coui
seedling - camxanern
sorrel - maBeb
to correspond - BiagmoBigaTH
to dry - cymutu
to marinate - mapunyBaTu
to water - nonuBaTu
tomatoes - nomigopu

2. Read and translate the text:
VEGETABLE PRODUCTION

The vegetable production provides the population with necessary products.
Vegetables are a reliable resource of the vitamins. Cabbage, carrot, beets,
cucumbers, tomatoes, onion, pepper, garlic, different condiments such as parsley,
sorrel and dill belong to vegetables. It's very important to keep to the range of
vegetables. A deep plowed layer must form the biological soil activity. This layer
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should preserve moisture and nutrient substances. The soil must be plowed very
thoroughly. The ploughing depth must be up to 30 cm. The organically and mineral
fertilizers must be applied in spring before planting. The vegetable seeds should
correspond to certain demands. Tomato, cu-cumber, pepper and carrot seeds must
be put into the salt solution or into the ammonia saltpeter solution. They are covered
with the nutrient mixture. It consists of peat and manure. The vegetable seeds are
sown in the greenhouses. In the favourable weather conditions seedlings are planted
out-of-doors if there are no ground frosts.

The black soil is the best for vegetables. But they may grow on the loamy soil
too. The seedlings planted on the light sandy soils need much fertilizing. If there is a
lack of precipitations in summer, the seedlings of tomatoes, pepper and cucumbers
must be watered.

Tomatoes are harvested if they are enough ripe. Cucumbers are harvested if they
reach a certaln size and a certain dark green colour. Cabbage has several varieties.
' There are early-ripening, middleripening and late-ripening
varieties. After harvesting tomatoes, cucumbers and
cabbage may be marinated. Among them only cabbage is
resistant to the ground frosts.Carrot and beets belong to the
tubers. They contain a lot ofvitamins and nutrient
substances.
They may be preserved all the year. They are frost resistant. Condiments are very
useful for the marinating and for everyday meals. Their leaves are cut about four
times a year. Onion and garlic are cultivated on all the soil types. Onion may be
sown by seeds and may be planted by bulbs. Bulbs are harvested in August. It's very
important to dry bulbs very thoroughly before the preservation.

3. Answer the following questions:

1.  What is the role of vegetable production? 2. What crops belong to the
vegetables? 3. How must the soil be plowed? 4. What is the ploughing depth? 5.
What fertilizers should be applied? 6. How are seeds of tomatoes, cucumbers and
carrot processed? 7. What does the nutrient mixture consist of? 8. Where are the
vegetable seeds sown? 9. What soil is the best for vegetables? 10. When are
tomatoes and cucumbers harvested? 11. What cabbage varieties do you know? 12.
How many times a year are the condiment leaves cut?

4. Translate into Ukrainian:

i 1. | think that the wvegetable production will provide
.+ thepopulation with the necessary products. 2. We knew that the
== nutrient substances consisted of peat and manure. 3. The
. researcher told that the vegetable seeds had beenalready sown
A in the greenhouses. 4. He said that the vegetable seeds would

correspond to certain demands.
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5. Put the infinitives in the brackets into the right tenseaccording to the rules of
sequence of tenses:

1. The tractor driver says that the ploughing depth (to be) up to 30 cm. 2. The
farmer tells that the tomatoes (to be already harvested). 3. We knew that the
cucumbers (to ripen) very soon. 4. He said that he (to plant) already onion and
garlic.

6. Fill in the blanks with the necessary verbs:

1. The farmers ... the range of plants. 2. Parsley, sorrel and dill ... vegetables. 3. The
researcher ... seeds with the nutrient mixture. 4. The nutrient mixture ... peat and
manure. 5. Onion and garlic ... on all the soil types.

to keep to, to belong to, to cover,to consist of,to grow

7. Translate into Ukrainian.

Lettuce belongs to annual plants. It is characterized by the early- ripening and cold
resistance. Lettuce contains carotene, vitamins B, P, C, zinc, manganese and other
substances. The people cultivate three lettuce varieties: the leaf variety, the tip
variety and roman. The seeds are sown either in spring or in autumn. The
organically and mineral fertilizers may be also applied. The yield is harvested three
times a year in the sunny weather. The leaves should be fresh.

8. Remember the following words:lactic acid fermentation - moyounokuce
Oponinns late-ripening varieties - mizasocturm coptu Middle-ripening varieties -
cepenubocturi coptu to pickle cabbage - kBacutu xamycry

9. Translate the following sentences:

Cabbage is pickled in December. Middle-ripening and late- ripening varieties are
especially good for pickling. The pickled cabbage contains about 90% of the
vitamin C. The cabbage is pickled in jugs. It is minced and mixed with the minced
carrot. It's necessary to add some salt and condiments. The lactic acid fermentation
means that the pickling has been already over. Tomatoes and cucumbers are salted
in barrels. Before salting they are selected according to their size. It's necessary to
add different quantities of onion, garlic and condiments. Tomatoes and cucumbers
in the barrels are watered with the salt solution.

10. Translate into English:
1. Kanmycra, mopkBa, OypsiKu, OTipKH, TOMIJOpH, TeEpellb,
> f/ > eBde uuOyJIs, a TAaKOXK Pi3HI NPUINPABU TakKl SIK METPYIIKA, HIABENb 1
7 wwﬁ Pl KpIIN Hajiexatb 10 oBouiB. 2. Illap rpyHTy nmoBuHEH 30epiratu
3 ©oas BOJIOTY 1MOXUBHI pe4oBUHU.3.OpraniuHii MiHepalibH1 J0OpHBa
NOTPIOHO BHOCUTHUIIEPEAOCHOBHUMOOPOOITKOM IpyHTY. 4.
[ToxxuBHacyminicknagaerbest 3 Topdy 1 rHoro. 5. HaciHus
OBOYIB BUCIBAETHCS B TEIUIUIIAX. 6. YOpHO3eM € HallkpaluM IpyHTOM JJisl OBOYIB. 7.
[Ticnst 30upaHHS TIOMIJOPH, OTIPKM 1 KamycTy MOXHa MapuHyBaTH. 8. Mopksa 1
Oypsiku HanmexaTh a0 KopeHerohiB. 9. IlpumpaBu - mgyxe KOpHCHI s
mapunyBaHHs. 10. [{uOymto 1 yacHuk 36uparots B cepnHi.ll. Canat HanexuTh 10
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OJTHOPIYHUX POCIIHH
Grammar Review

1. Put the verbs in brackets into the correct tense Future Perfect.

1. I (to do) it by that time. 2. He (to write) a letter by the time she comes. 3. We (to
build) a new house by the end of the year. 4. Mother (not to cook) dinner when we
come home. 5. You (to do) your homework by seven o’clock? 6. They (not to
arrive) by the evening. 7. Why she (not to come) by five o’clock? 8. Who (to take)
exam by this time? 9. He (to read) this book by the end of the month? 10. | (not to
look) by this time through all the magazines.

2. Put the verbs in brackets into the correct tense Future Simple, Future
Continuous, Future Perfect.

1. He (to write) a letter tomorrow. 2. He (to write) a letter at seven o’clock
tomorrow. 3. He (to write) a letter by seven o’clock tomorrow. 4. When | come
home tomorrow, he (to write) a letter. 5. Where she (to go) to buy a new dress? 6.
What language he (to speak) by the next year? 7. They (to write) the test from two
till three. 8. We (to have) supper by half-past seven. 9. What time he (to come) this
evening? - He (to come) by seven o’clock. 10. I (to meet) you at the station at nine
o’clock tomorrow. — My train already (to arrive) by that time. 11. You (to finish)
everything by this evening? 12. We (to do) washing-up by the time mother comes.
13. What you (to buy) him for his birthday? 14. What dress she (to buy) by the
party? 16. He (to have) his French lesson at ten o’clock.
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